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tornado. In the center of a tornado, winds can reach speeds
of 500km per hour or more. At such high speeds, winds can
destroy anything i their path’.

There is an average of over 1,000 tornadoes every year in the
United States. And Tornado Alley s an area in mid-America that

gets a very high number of very destructive tornadoes.

Tornadoes usually occur individually® within a short period”
time. For example, in April 1974, almost 150 tornadoes were
reported east of the Mississippi River within two days. And, in
. . o April 1991, an outbreak” of 54 tornadoes also ocourred within
A tornado is a type of violent windstorm’ in

two days. The Tri-State Tornado of March 18, 1925, was the
deadiiest tornado in American history. According to the report,
689 people were killed by this tornado. It was a series of

which a rapidly rotating column of air spins very
fast. They are ot very wide, and they do not last
a long time. But they are very destructive® and
even deadly.

tornadoes, not a single giant tornado.

©tormado and 1973

Tornadoes typically develop within a large
scale low-pressure system. When unstable hot
air near the ground rises and meets cooler air,

a thunderstorm forms”. Sometimes a massive"
thunderstorm develops a rotational wind that

o
% touches the ground at high speed. This is a

€ vocabuary

1 widstorn  astom with ver stong wind but € o 1 i o snow
2 dostucivo: cavsng groat damag
3 form: 0 gve 8 paiculr shape o
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Choose the best answer. 3 Match the words with their correct definitions.
1 Whatis this story mainly about? 1 destructive - ~ 4 length of time
2. Tornado Alley
b. how tornadoes form 2 path . * b togive a particular shape to

. how dangerous tornadoes are

4. tornadoes and their characeristics 3 incividualty - * ¢ onebyone
2 Whatis the area in mid-America that gets a lot of tornadoes? 4 masshe - - d course

2. Tornado Alley . Thunderstorm Alley 5 fom X + - largo and heavy

<. Windstorm Alley d. the Mississippi River

6 period . + f causing great damage

3 What speed can winds in the center of a tornado reach?

2.500m per hour . 5km per hour

. 50km per hour d. 500km per hour

When unstable hot air meets cooler air,
a. air does not last a long time

b. a thunderstorm touches the ground

¢. a thunderstorm forms

d. tornadoes usually ocours

B Choose the correct words to fill in the blanks.

windstorm  destructive  form  individually  period  outbreak

5 How are 689 people killed on March 18, 19257

a. A single giant torado formed in Japan. 1 Tornadoes are very and deadly.
b. A series of tornadoes occurred in Japan. 2 A of tornadoes killed a lot of people.
<. An earthquake happened in mid-America.
4. A series of tornadoes occurred in the United States. 3 Tomadoes can form orin small groups.
4 Tomadoes normally occur within a short o time.
6 Which is NOT true about tornadoes?
2. They are not very wide. b. They are not even deadly. 5 Atomadoisalamge that spins very fast.
<. They are very destructive. d. They do ot last a long time. 6 When hot air meets cool air, a thunderstorm can form.
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Grammar Focus Organize & Summary
o 3 Check the correct sentences. [ Fill out the organizer with the information you learned in the story.
o 1 2. There are an average of over 1,000 tornadoes every year in the U.S. - A tormade fs o vcent windstorm
. b. There is an average of over 1,000 tornadoes every year in the U.S. R
How Tomadoes Develop.

o 2 2. The Tri-State Tornado of March 18, 1925, was the deadiiest tormado.
. b. The Tii-State Tornado of March 18, 1925, were the deadliest torado.
M 3 2. Winds can reach speeds of 500 km per hour or more.
. b. Winds can reaches speeds of 500 km per hour or more. Wnat Leamed
. How Dealy Tomadoes Can be

4 . According into the report, 689 people were kiled by this torado.
N b. According to the report, 689 people were killed by this tornado.
o
. 5 a.Atornadois a type of violent windstorm which a rapidly rotating

‘column of air spins very fast.

N b.A tornado is a type of violent windstorm in which a rapidy rotating @ Fillin v
. column of air spins very fast.
o
. violent individually destructive low-pressure massive unstable
o Atomado is a windstorm in which a rotating column of
. o o complet: air spins very fast. They are not very wide but they are
o Tornadoes develop within a large scale system. A

1 Butthey are very destructive and even ( dead / deadly ).
. thunderstorm forms when hot air meets cooler air

[

. 2 1 dovlops.arotatioalvid that cuch / touches ) the ground a igh — \hundemtorm dovelops  otational wind
o that touches the ground at high speed. This is a tornado. Tormadoes

3 Tomadoes ocour (individual / indvicually ) within a short period of time.
o usually ocour within a short period of time. The Tri-State
. 4 Torado Alleyis an area that (get / gets ) many destructive tornadoes. Tornado of March 18, 1925, was the deadiest tornado in American
. 5 Tomadoes (develop / develops ) within a large scale low-pressure history. 639 people were killed by this single giant tornado.

system.
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a. ot JH2| ArhSt EH[0|=7t L=0lM gL,

JhE e Bg mENR, b. HAX0! EH|0|Z7} LR0jM ojSESLICE
. 222 Z2 2ol Bst 2007127 [d] c. 0= S0l XT0| LoiELIct
a. EHo|E £2 d. GO EL0|T 7} O20j|A] LAl LICE

b. EH0|== O1EA Fy=l=Tt
c. EY|0|== ofLt {&et
d. EHo|=0t O EFS

6. EU|0|=0f 25t AFO] OH 22 RARI7IR7
a. EU|0|== OFF HX| ELct,

b. EU|0]== JCHK| XEZ{0|X| LELIC

. EU|0|=7} 0| BrMsH= 0|2 £E9| XS foiolzta c. EY|0|== i TfQULICE
Stte? [a] d. EH|0|== 22l XISE|X| &Lt
a. EHo|= 2 b. @ E2

c. 58 5= d. DlAAT & Vocabulary Focus

. EU0|= SAEO| HIES £ Lot Z[LER? [d] 7} Chojof] Y2 ojn|2 &0} HAHSIM|S,
a. Al& 5000/|H b. A& 5ZZ20|H
c. Al& 50Z20/H d. A& 500Z20]H
. EOMNSH AR Z717HH APIR 371 B,
) [c] =T/ oha&Ql / Acfst / JHEEOZ /7|7t / A
. 37l Qei7X| efsLct
. [R7HES WRLCH

1. EU0|== i mtufXoH X|EHLCh

- =27 FgEucy

ocod

. 23S EH0|=7t LO{EfLCh

2. EH0|=0| ez B2 AIR0| =55 AMSHICE
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[destructive]

[outbreak]



3. EH0|== /xR =2 X2 FEE KoM g

o UELICH [individually]

4. EY0|== B8 B2 717t St ofgLct  [period]
5. EUH|0|== 04 W2 3|™seh= Aist Z2SLICH

[windstorm]

6. IR 7|7t AR 3719t B et H7t Y

PN u Y [massive]
U= 230 EAGIMIZ.

1. O/=0A= i Ed 1,000717} H= EU0|=7t 2helst

Lick [b]
2. 1925\ 33 180fl Layst ‘Ez| AH|O|E" EL0|=7} 7t
& XYl EH0|=HELICE [a]
3. HIZ2 Al& 500ZZ0[E E= 1 0|A9] £=0f 0|2 4
QUELIEL [a]
4. 7120] oJ5tH 689H0| 0| EH0|=0] o5l 242 UL
Lick [b]

5. EU0|== Mol £F9| 5t EFE, EH0|= LHF0IAM
= I£0F 3|¥ek= 37| 71S0| MR EA SLICk[b]
ZAEAZ} Qf0F 6H= AF2[0|Z2 in which A2

1. J2iLt EH0|== 0iS mX0|H AX|of MBS Stotrt
7| iLich [deadly]
2, JA2 HE £ Bofl H= 3 (HRE TS0 L
ch [touches]
3. EUl0|=E Moz B2 Alzh Qtof Bt |t

[individually]

SAIE THFE= 2AL LAY
4. EY0|= S2'= T|AQl EH[0[=7} o] LMsH= |
HLct, [gets]

5. EUl0|== W2 XM7IQA0IA LARLICL  [develop]

Organize & Summary

EZ0/M 2 YEE 0I8510] LIS EE 2MsIMQ.
[What | Learned] How Tornadoes Develop
Tornadoes develop within a large scale low—
pressure system. A thunderstorm forms when

unstable hot air meets cooler air. Sometimes a

massive thunderstorm develops a rotational wind
that touches the ground at high speed. This is a
tornado.
[What | Learned] How Deadly Tornadoes Can
Be Tornadoes usually occur individually within
a short period of time. The Tri—State Tornado of
March 18, 1925, was the deadliest tornado in
American history. 689 people were killed by a
series of tornadoes.
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[LH7H B2 A] EWIO|== HolLh RBHY 5= U7t
EHol== HE W2 AlZh St JiER o2 WMSHLIC 1925
1 32 18 st E2| AH0|E EH0|== Ol= JARY 7t
Z X|HXO0|ASLICE 689HO| AIZ0| HEXOZ MGt ELl|
240

s
0|=0ll 23l Z&S HABLICE

rok

A

Ho

g

mnr

U2 THol 2 HIZES XY 222 2ASIML.
violent HEZSt destructive Ttn|AQl
low-pressure X7} unstable SCFPHEt
massive gt individually JfE&o=2

EH0|== oMol 302, LHRM 26k 37| 7Is
0 TH W=7 SLIC EU0|=E J2] K| 2oLt mtalXl
EZYUC EH0== E2 M7 IZAIA SYRLCh S0HY
ot A2 S77HH & 3715 e o =R SEEL 7t

T et L7 HHHE £E2 Ho| HE= 2|t

FIO mlo
2
mn
2

HLICE 0j2{0] EU[O]=LCt EUHl0|=E B8 #2 At &
QF JHHMOoZ b |C} 192514 33 18 LAlSH ‘Ea| AH|
0|E" EUI0|=E= Ol= AR 71 XIEH0ItELICE 6898
9 AlHo| &Aooz EHlish EH0]=0f 25l S &S UUE

Lct,



22514 | a7t Salo] A2 G o Halsh giSan L2SAE oK of A2iet 2Rt Em §
ol Ml ZE7} UBL

7] 2

0g
rlo
Eﬁ
mln

F= 2 ol Lich thr| 2F2 ot FME | ZLCt oIS

AsLC 28

f%.:. IEP oH—f" 7| 2FRULIC F2 XSKiet SHM Lhee 7|7t th7| 9‘:"94 of Eelgiy
H5A

 KSAIRE S

=
HolM Li2E 2EE -6-7I" MOl EVIE ZhsLCh 0|20 XIFE WSt iU Ch 2tsiXE2 0|E R e
2 BELCL £8 2F2 SYUA 2=t sfoi|2E AST=M LEILCE HI7t 0] ni=3t stol|=E Al
ot 342 2UIRILICE 0] 2tSiH|E HE0f AlLHRt &4 & ZFI} BE=stA| K2t gLt 277t ZH ZHiSo]
712t A7 gLt RFmaFgolM TE S=at AlZ0| MESHE o 2Rt MAS MEYLCL £ UE SR 2
F2 A LHULICE ThX| LB2 AFRS0| ZHSO0L= 2|7 |0 2fsh HATLIC M2f7| DHBIE2 0HY =] xH
U

X USLICE OHZIX[0l 2|7 |7 HoLrT M7 |7t GLo2 AMSO UL Z=0= EL0|

2FLT QT

ot S= 2ZF0iA 2ES LA ok 2EE SFoilM A1 A2 A2 OfFE SSLICH HICHLE S0 M2
7|1E HEIX| OMIR. M| 71t MALE0| 7tse S2tAE 87IE AMSSIMR. Eot, B2 6>i0|2fH XISt

= XHHE 0IE3IMIR.

EOfaiA] | 1. H2|3t: a #12, 788, E= £ 0| S0 H= 2. 71FC v, BT 3. xafst:
B 7L}, @7 SE HECHE 22 4. HZ 1 n AIZ0| O X X2IEE ZoIFE S5HE n. 4
of 371 &0l U= AZ Gl= 7IM 6. M|7| BiEX| 1 n, M27[7} A0 HSOIE HA 7. AEH%E :

9— -
T7i2 S5 25| B2t 8. B n. ARROILH OfE 242 WD U ek

B —
JHE Y2 g nEMe b. QIZtt S= 2F0iA AY
1. 222 F2 F00f| #st 27127 [d] c. A|IS420|Lt 340 TfsHA| Xi2ts &
a. {8/ XISxPt 3718 QA7 =7t d. CtE SES0|LH AIES0| EeE 3}5 AtA
b. =St H|Z0| oSt 2XS B
6. 2BS W Y QA= RAS B A AUR?  [b]

c. 0197 X2{7|7} XIS REAI7 =7t

d. 29| Holut Zut

2. WO HIIE JIFE AR FAWIRY [c] c. HiCtoi
2501 o 2FE 2 d. A3|7|S0i| S2AE LS Ha|A
b. HI=0] ofshf 2¥E =

o
A=ty

c. AISAEZ Qlet 7| 2 Vocabulary Focus
O:I

d. Mg|7|2 Qlst hX| @

Z} chofof] Y32 oin|E Fot HAHSIMIL.
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2.l b. 371 Ch wizio] 21gte ElOjE mEAle,
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2. S0 AIBEE SSt|2E 41 292 Yoy 4 9

LIE}. [Fertilizer]

3. Tt sfeiH|RE $3 QES Yo 4 AL,

[9)
i

[Excess]

4. 2771 2 0, AR = CIE SS4 AS0| 2R2 oh=
AMAS AEEILIC [oxygen]

5. S2tAE At SXl= 229 42 TS Helst g 4=
ot [convenient]

6. H7|22 G£22 AHSOAM XIS LEAIZLICE

[seeps]

1. URE SR YoM LIRE H7171 th7] 2&2| o

HAIYLc, [b]
2. 17| Y2 MES0| & +l= 2 ofZA gUCh [a]

3. %2 MES0| USO0{L= Ma|7|of Qfsh Lreligticy,
[b]

4. 0| 25|z WZ0| Z2F7} 2=t X2t Euct.  [al

5. OIR: 2HE SF0M Al= AS EolX| pb&UCh  [b]

U2 CIOfE B2} 2US PSR,

1. JZ%S0| ZO™ LHIE|| 7210 A ELICE [decay]
2. OHEX(ofl M2(7|7t Aoids-E H7|S0| BEO2 ANE
L|ct, [more]

garbages A 4= Gl GAI2 manyE MX| &S
3. EQ0| 2|1 QI20)|A 2Ee UoziLct [polluted]
4. THIX| 710k THALRO0| 7t5S E2tAE] 7|2 AEsHA|

2. [Use]
HIE2 A 4

5. 2mibolA R2|7F MESHs o 2Rt MAS AEEIL
ct. [that]
oxygeng FHF= YEAIEO| SAZ TAHEA} that
MO|

Organize & Summary

EZ0M HH2 HEE 0|2510] CS £E 2MISIMIR.
[Detail] Water Pollution Excess fertilizer causes

water pollution. The fertilizers are carried to

streams and lakes through the rain. It causes too

much algae to grow. The decaying process of

algae uses oxygen that animals and plants need

to survive,

[Detail] Land Pollution Land pollution is caused

by the garbage. Landfills are filling quickly every

day. As more garbage piles up in landfills the

waste material seeps into the ground.
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a. /I F2 A2
718 L2 HE DEML b. 7420] HOIE2 HIRE
1. 252 F2 F0f &t 2717 [a] c. S=5 H
a. FX|Ye| SN S =S d. B7IE 5= HE3
b. FXY| 2 XRFA XFRE
e
d. SX|ol| MEFLE YMFIE = OlF

Z} CHojofl 2SE2 2|0|E Hot HESIML,

2, SZEo| X 2 x|F92 Foloj2tn E2LR?  [al
°r =T 1.2 2.¢ 3.7 4b 5.d 6
a. == b. 2=
Ofm|2[7+ d. ==l CHS HiZhol| L5k THolE TEAR
3. U2 (22 2ooz 7 Mo ULIR? [c] H 2/ 2ol / S2IMCH/ HiSt=E / S2Me! / MISSIct
He o
a. 83 b. S 2ok 1. =3 U5 Folol HiRBS Brh X L,
c.52= & d. 2o{=2 HIXE [seawater]
= [HAl OIS HiCty} 0l Buol |r|
4. 23012 S0i0[ 2lL12? il 2. 301 SR thl 20ES HiCht US B
a. Oix| b. YAMZ [frozen]
oo s olojze ticie 3. IRyl X2 (2L HEES TS TR ALS
7HR| Q&L [provide]
5. 2|8 ZHo| A S20] 0fdl 212 20I71R?  [b] 4. X7 2t B LZo0jam 22U, [point]
a. 97 b. & 5. S0tH27Iet R, TJ2|11 OfAo} LHE2 S35HE S2iM
c. S=30% d. =33 o UALICH [enclose]

6. 22| 2 UKLt TTS0IA S0 QUELICE

[surrounded]

6. HFEQ ERRe} ZRE F/R2 2Ol B2 JIX|1



1. J52 35| 2ol M3S3SLICE [b]
2, O2 50 S8 ZE|LICh [a]
include= 202 ZR2 6t= SAI0|22 FA|A

ze
3. oHHIC IASS tiSa tiES &7 o = W alkE
Lic, [b]
from A to B : AO|A BIFX|
4. ZEF7t O MELTH [b]
speciese A 4 U= HAIZ few MY
5. SX| XHA7t Gl THX| HOIER HICTt US ELICH
[b]
[ Y22 ClolE T2t 23S AR
1. J%2 S 22 20 UELICE [surrounded]
2, JRS2 XY A= Z OF == SESYLICE [livel
3. H32 g3 tisn 536 FHo =R 4|0 USLICH
[comprised]
4. 2t X|99| 7|5= & A LU F&UCE  [throughout]

5. |X| S2S0| &7l 0| X|F= wLt 0ISE 4 SsLct.

[easily]

Organize & Summary

[ E20iM B2 YEE 01835101 LIS EE 2MBIMIS.
[Differences] North Pole The region around the
North Pole is called the Arctic. At the North Pole,
there is no land itself but only frozen seawater.
In winter, the frozen ocean allows land animals
to move from one continent to another.
[Differences] South Pole The region around
the South Pole is called the Antarctic. The
continent of the Antarctic is always surrounded
by liquid water, so land animals cannot easily

travel away from the area.

[HIXEE "] 7|27t 26 EELICL UiFR SE252 2=

]

o ZRFEL _’E—%?:I'-llih
[E£3 &o|E] 5= FH X2 S3(the Arctic)ol2ta £

=4, S50l |X| X7t gl 2R EoiE2 Hitht %

[ru

0
mjo

#olLct 720 HoiE2 HICt §X(9] 8852 0| tiS
M X SO g4 = UEE shELICH

(&2 RI0|”] &2 FH x9S ‘a:‘(the Antarctic)02f1
ELICL g2 tiS2 dAL 52 S0l S2M0o] °'01A1
X9 E2E0| £A| 0] X|HOZLE ML} 0|SE 4 giBLICH

] Yoo Chol2 HIZES 9 B2 QoM.

climate 7| extreme 3%t9| land €X|, X
continent & Antarctica 2= (15 liquid x|

IX|YO| 7|1E= =0 SEULL HEE SEE2 255
SEfoll MSTt el ZRFL RRQILICEL 8= FH X992
E3(the Arctic)0|2t 220, £30l= SX| X7t 9o

CHX| HO{E2 HICE| U2 #YLICE 7420 HoiE2 HiCht
SX[o| B2ES 0| LZUM M F2E FHZ £ UZZ af
FLICL g2 FH x19g H3(the Antarctic)0l2tT 2L
Ch Y= 022 MAL 52 S0 S2IMK A0IM, |X(2|
S=50] g7 0| XY= 2H mL 0|SE 4~ SUSLICH



=23 | BE MBS WA} YELIC Bals LRIt KRk o 02 B2 S BT Bals Hoju A2
£ ISP FOPEE St 22 B2 Y, Halst GiCiB A2 HiZo| HopbLt Hlo| £24zK) BELIC
#al NZ0| AT AfRts o TRS 21 YYRS SAFLIC Walo[2t B2l AR #al7t £S Fn Hof
Lit 23t £718S E48it J2ln 21t £71M2 B2 S AlRY| BE gz Mt #als BYo| %
7| CHELICE Off #2j= w402 EHi2 RIZHLCE O/3 2|52 T4 40| Xf2t 22 20| S/ et 23
O] U&LITk, 021 #2|SS Zowalain HELICH TIE ®al= Ao o] LIZILICE 0 #2iSS BS o bt
2 Of2f ULIC O MalSe M|k ASSS K7} Al A% 20kt B 20| Test o wat 2t
7| T2 B50| #a]7t UBLICL OIS S0f, OIXK-E &717H B2 i KIZOIA AIRILICE 0= KIS 717} 31
7He S50 UBLICE DA ORI RHAISS 0| A Q2 SR 23t 70IS 22 Awa| o] UsUct, B
HRIEHEE Aol RFELC) 1 Kl (52 4 2 ) 216t 0] B4 BLIC. Ry Jge dn 22
2|0} SR WA 2 Muia| F0| USLICE 0] H2SS HAT ABS2E Ha) Boj7l Ro| 2 3t S
SH0fLIC
IOl | 1. 1B n. K5OIt BHe 2. 5 ¢ Bt HEJE SE0IE S 2| 96t 2242 34 &2 3. E4sict
v. wotgolct 4. 271 : n. ofd AlZo|Lt H0| ZXfsH= Kiotxiol S 5, 22 : o TRAXPILL K 22 6. MR
P0L0]: o, B MR O[Z0(K QILL HSAE 471 7. LIR9| 25 1 n LiRo| S4S 54 27 8. % n. O 2

So| 2P| 28 2

=

Comprehension Checkup

10

o E2X—- d=2

E2E2 F2 20 &t 227127 [d]

a. off MMz 71 Z228a|7t Xi2k=Tt

b. ({7 H2|7} St 22 HEtg skedt

c. #a|o| @Ok} 210

d. #2/e| 75Tt /Y 6.

OFRILIR = Ol ZF2| 2|5 7K1 ULR? [b]

a. 224a| gt b. Az 2

c. 27{2 g o d. SHIZ 42| o

off Hal= ME0| ELE0Ie? [b]

a. #2l= JUR0| Of! 2T E4E o JUBLICE

b. 2|7} QiCtH MSE2 dai7i7iLt £21Z X LICt

c. #al= 2 LIRJ}OHl 7HY XF2 Mot X|eigh 4~ 9l
S,

d. #2|7} o= AME2 HYCRRE 27 |HE 48
2 Bt

St 271E2 g 2E Yoz MIL|Le? [a]

a. 22 SaiM b. £= SalilM
c. HIE SaliM d. 37| SahiM
MR Haj= Meldo| e 4 U= & =

[c]

a. HUB IS EY b, AlCfE U2 37|
c.HUfEe®  d. Afe ue HeE
#2(0] 23t Ao] Of %2 SeIIR? [a]
2l Bt YUES BABLIC,
b. 2= NES EY0| BT ZOKBLIC
c. #2l T4 Z00| XYL
d. #al= N20| S0kl 4 UEE EoRELIC,

Vocabulary Focus

Z
4

I
)
=2

HESIML,

2.7 8. 4. 5. 6.

CiS HIZhof| 22 TS I2AR,

2/0UE 2/ 2 F/ /Y /U ESS /Y




1. Hal= ot 22 HES 5t G40l U AES HESH

A ZorsLIct, [anchors]
2. AfE= ZE WHOS Wof LIZLICE [Fibrous]
3. EE& Afe| Yol =S HIOkN, Ok &0| M US

& UELICH [webs]
4. Ol B8 717t 310 7k= &80| UBLICE [trunks]
5. Z2 tp|= g2o2 SHi2 X2fHLct,  [straight]

6. HI|E2 TS =1 Hof LI7IM 21t 27|2S S5 U

C. [minerals]

U= 20 BASIMIZ.

1. 2SS XNSS 20| A QU sh5E 7oz 22 A
2| ol tict, [b]
help®] SE22012 to HEA £ 2B SAF 1Y

2t

2. MES2 X7H A H200 2

=

7t A& [a]

3. AS2 digol| oLt Hlof £2iZ ZWLc  [b]

4, JS°| 2= OS50 Mo S QU= VIS U2 E2 &

5f{oF SHLct [b]
as~as - 0E ~5t

5. 0|252 25 G H2 o2 Q&LICt [b]

usually= besSAt Flof| M2

3. ONS2 Al2ts o e %R?_f 9‘.%*% EH—IEP. [for]

[are sent]

Organize & Summary

ZZ20M 2 YEE 0[8510] kS BE 2A4J5IMIR.
[What | Learned] What Roots Do Roots act like
anchors to hold plants firmly in the soil. Roots

also absorb the water and nutrients that plants

need to live and grow.
[What I Learned] Roots' Shapes Tap roots grow
straight down into the soil. They grow deep into
the ground to reach water deep down. Fibrous
roots spread out in all directions. They are
usually just beneath the ground.
[What I Learned] Plants and Roots Palm trees
have strong webs of fibrous roots that help them
stand tall. Cacti have long taproots and thick
mats of fibrous roots.
Ml #2l= L7} Xi2te ol o< 528 922 ot
[Lh7} B2 2] 52217t sh=
b 20| ASS EY0| THSIAH ToksLch st

#o|= AE0| MEh= ol Zdt 21t YRS SFLch
(L7t B2 28] He2lof ek
Z28els HEo2 ZA| XILICHL 22%e= E okl Hs

0| U= 20l ES W7IX| RIFLIC A¥el= Ao = XL
Ch A2l= 2E G4 HiZ ofzfjol UFLICE
[LH7} b2 2] AlSot gea
OIXILIR= XSS =01 M | off F= 2t alee] 2ol

=
UBLICH MOVER 71 TLwaloL SR WA 22 Mwa| 5

UGS EHo| 2 HIZES 79 222 QAsHMIR.
roles HgtE absorb &45iCt straight £HZ
ground & spread BMX|CH beneath Of2fo]
#ol= UR7L Xf2tke Ol iie Qs Hes il 2=
St Zo| AMES E%FOH EICRSIZ| TIORSLICE E3 #al=

AlZ0| 40 Afeks o TRE B ¥ES BABLIC Tow
2l a0z T Aihct 2wl © ofzh 240] s
A

0l S UIX| RLICE Aals Ao TfRiLICk Al
PIE S5 94 Y2 Ol SBLICL ORLIRE AUSE
ol A A #lEE

Auia| 2jo] QaLct, Morge 71 2em
2it 712 A 2 | 501 LB

1"



2264 | Ji0ls 5 RS Mt 2E tiSoM 2HEFUCL RS2 X7 do oF 228 39| JHo|7t lct
FEELICH HIZ 7H0]12] B0| 0h CHsh7 = ST, 2E JHole S8Xe= oH-f°I EZ0| Uzt 2= JHo|7t
AfelAel 502k AYUCh Ji0IS2 2MES LT JHof Alzle] tHRE2 Ul gl JH0jE=2 T8=of AU
SLICL 7H0IS2 oighal, a7Hal, EE2H0], 22|10 LoK0|7t ASUIE 7*Ahz|" M0l Shte| (A7H0I7t e
Lict, cighole SxRI2l7|Eits eE dilsks S UL 67iols 1S Z1X| EfofLi=t, o] E7HE
BR7[Sh= St AISELCE of 0f2| 22 o2 a122| +7H0]et HAZ|S o 20f oiol= SXIE & A= &

OfZiLiCt. 2|1 LA tighnl= S7HE oA =l BdS = FoBM YU a7H0l= ZIHE 71 22 JH|
YUCt. +7Hol= 30| ZEUCh 230| st 22 WEs BHE0IM T2 EEM 2 74 718 tig7holSat
BRI sh= AYULICH £7H0|1S2 BAVIE 2d = = Uch S8l AlRIE X71E tii2e] dESeL
Ct. S0l XI5 CHE TS 32610 ol Toter|= gilct. sEA: 252 g2 4= &+ Sl gREY
LICt, 7Ho| Af=le) ox|at L &2 7H0|LC 7H0l= 22 2707t Gle YR 2 tigvho|ef M7ISRiLIct &
7ol FA| L= 2X| ZELCE LH0IS2 AlZS 20t Ale] FEHES B0 42|10 TS H& LIZLICH 40| Al
Ofl A ChEL=C| ZH0l= 27H0] LTt

or

|0

bl

EHofsHA] | 1.5 i n. OfH ARO|Lt E749] =55 E2] 2.8 1 n, B FA0M A74LL Xi2tD U= AE0|L 38 I8
3. X[HHAL : n, L2HE CrA2l= AlE 4.10(5ICF @ v. S2S0] HAIS 2lol 871 20|t 5.4F 1 Al0|LE S20[ Al= Al
249 20| 6.Hof5ICt 1 v. sh2Z0|Lt A2 RE ES5iTt 7.5451CH: v. OfH X0fl 7tM 2SS SXICh 8. &5t

Ch:v. 27| AR2E S7HAI7ICH

I

ETh el e 5. ofiol= 2b7] BCHe o SATRILICE [a]

a. SXIxt b. 2710
TP B2 HE 1E2MR c. 2740] d. HZXIH0|
1. 222 %2 20| 23t 2e07iR? [b]
. 6. JHolof 23t A2 2ot017tR? [c]
a. It 7Mool 5 _
a. 70l YES BE5HD O BEE SHFLIC,
b. 740l 2% thel 7Hol 37
b. $E0l= 470/0/D, 152 0IE Hot SLc,
c. 9f oEll= HHE A =it ) o
c. OIS B Alsl 25007| U2 HHNES B
d. D= ofEA TEHS STt
L,
2. Aol oiLt 22 Jholel S| ALiR? [c] d. ol RSO S S o Bl Wi
a53 b. AT B £ s
c. 018t 5 d. OJeEt 3

3. ol FH0p7 o= FoloLIe? [d] Vocabulary Focus

a. oigvHnl b. <740l 2} EHO{of) 2342 ojal Slof TS,
c. ol d. wEHl
= °° 1.7 2.d 3.2 4.c 5.b 6.
4. XS0l olo| BLIH 27Ho|of B2 LILIR?[b
HISe| o] BLiet 47Hojo) R Uo| YoiLiLIR?[b] e izio] SIS HojE TEAlR
a. 152 U $ou] UM wL| ELc
b. 1SS XHISO| Uo| Bited biz FELick Sx/ SRR/ WEV ot / 4% / S2eitt / Hesict
c. 152 HHS 290l =0E HothSHC 1. Wlls 35 02 UES 470510 2248 SRLIC
d. 152 YAg moT Hte| TARSS el lc,

12




[raid]

2. #Iloles B2 a2 7R &2 JH0|YUct [life span]
3. 2= 7ol SEXQ! EZ2 HIZ 7ol AR 250
2k= ALk [trait]
4. oi7iol= 7H0| WAV IS she S0 EIHE ARSI
ct. [mating]

5. 20l= A7 |9 HHE Ha LiZt= A JHO| L
[enlarge]
6. OiZ7H0|= SXIXIO|X[ZH L] MM o 7RZELICt,

[ruler]

o= 20l BEAIBIML.

1. Ji0IE2 25 AMEXel 2E5Lct [b]
2. oigrhiol= E7HE 7IX| efoiLb=d], O] E7HE BRI IS
Ste S ARS - [a]

what= &% SH| BAHZAZ M0|X| §is
3. =8 iFE2 Ul Al /i0lIS2 F8= ABUCE  [al
4. OS2 XF OE ZHS 3460 =0E Toter|=
Lct. [b]
5. YOIz MRS X7 |= ti2el eRSeLch  [b]

o

Y2 TS S2 2YS AYSIMR.
1. SE7E OS82 ¢ 42 4 e YRS, [lay]

3. —’.‘—7HDI%8 IL%QI US BH S A ELch
[completing]
4. 0| Win|E2 Mg 2on ZZ H5f LigLct

[enlarge]
5. 1=0| ol= Y2 YWHoHA EHSO0M CHE EHUN =2
o7HolEn WA |E sk= AL [mate]

Organize & Summary

220/ 2 YEE 018510] CIZ EE 2MdsiM2.
[What | Learned] Queen She is an egg
producer. After mating, she spends her life
laying eggs.

[What | Learned] Workers They are the

daughters of the queen. They collect food, feed
members of the colony, and enlarge the nest.
Most of the ants in a colony are workers.

[FHl] 2= 7Hol= AlRA 25U O3S
LIct

[LH7} B2 2] of7Ho|

oiElinl= €S g= JH0IQLCH ®BATIE Bt £ oiEuiol=

US dor Y2

[LH7} bH2 2] 4=7Ho]

o
%
pil
=
o
o
it

S¥ck

7H012 g2 WHS| "HHS0 T2 T U= 27 U= o
7hoj2t WA IE Sh= AYLIC 2ol ELIE 27H0l= HiZ
=g,

[Lh7} b2 2] 8 17H|JI

ot 0l E HoksLitt 252 ¥S HXl= Ry
[LH7} bl 4] Y7Ho]

%% o&7H0le] M7ISRILICEL OS2 Algs 2o, HH
L

colonies Xt 2E egg & mate ®A7| it
t

defend 2o{sict raid &Z4siCt collect Zort

ZE JHol= AMteld ZEYUch 359 HH2 odiolet 4~
7hal, gk, ILEII'_ LHD|2 FEE(0f USLITE &7HO|
= ¥S gaLit B%
2L o609
7H U= of&Ho|et &
Ol= 2 Z5UCHL E3i0ls S BSsiuct 382 7t
T e HS &6t 02 HoksLot 2s2 ¥ ¢
Xz REYUCL HolE oho =
s E’iT'_, Yo FYHES HolH ’élg YL &

=

13



Science | UNIT 6

=23 | 2SS SR LT} OF H2 XIRULITE 0] X2 U} 1 £0t S BUS B3| 1SS
LICk ZBIRISS Z2420| Sl W0l S 7RIt UCKD MBI 3t W#e 2 ol 20 ojst 2
k2 Aokl Sish, 5 WS L] SlsH S1=7t WRBLICL HEBE (#2) Yo UojLn FU2 B ooz o
Of LIk £ B0 B WL RRISHSUIC 2Lt 927+ HofX|t Ho| S/ utx| €S ooz Wof Wi
S28t0] LA BLICE 012 QI3) LT} 2 XIH0| A71= ZLITk 0f7[ofi= 2o = BB AT AL B 9
SLICt, S220| BISO{XI= I BiLio) W2 25 21 Hofalt HNE= HYUUC) B SUS0| 254 B4
0N SXIP B3 AAZ Hlstn il SAF0| BISOIEILIC 2|z 25 FAR0| 2SS JHKlD s
Cf S22 W2 S K| 0 XIS 27| OfBIBUICE J2ilt HRSXISS 1 Fo) U S B
O SUTO| YIXIZ U 4 UKL HO| SAE2 Wl So{7lel €2 XNS WEBLIC HISISS XS
27 S220| IR Y 4 USUIC T2t SAE OIN B2 0| Uoj=Kl= 0} BELICH

ElofshAl | 1.2 n B2I2 B 9I8t A R 2. 4012/ 1 OfHE| Aoigls; BX 242 3.URE : ad, 9O
2Lt 29Dl0| B4 ZO2 4,250 1 n $E TASKS B W2 02081 I8 F0l st 5.8 S| of Ao
LHOfft 2281 o2} 6. %4 SORICH v, OfF el oSt SIS 2ORCh 7. MBS n W HAE TGl
TSR} 8. BT} : v, ROIOIHE H0] 2okiRICt

AEISHA | black holes (artist’s conception) SHE(7HMT)

Comprehension Checkup
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o
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mjo
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[a]

i

b. XMl 5

d. ChE Ho| Er

S1letH 2o| o
[c]

i

[a]

14

. 858 9oz Uoj gLl
d. 9SS HzZoR WAL
5. @2 o7} Zes [b]
a. Xi42 LABH | St
b. O 22 L7 | st
. 220 IXIZ Lohy7| SAshA
d. YE7HES XIS IS0} L] S
6. HIITISS SX0|M OfZ XAS BB 4 QiR?
[a]
a. 20| BISO{X| SAS0| XAS HAtBHC}
b. B2 20| B0|3 1700] A4S S|k
. 127} BO{X| Ho| 21} XAS HAtBHLICY
d. 50| SUE 01O Wl Sojy|3 XA WhtatC

Vocabulary Focus

Z} CHojofl SE2 2|0|E Hot HESIML,




/Aol / %oz /
Aetet AIRIS HOMCH / BRSNS / 2SI

1. A== o[ A0 = WLt Lok [alive]

2, MEAE2 £UE /XIS FofLh= LS YLCh

[Astronomers]
3. 32 g2 AFo= U EX|o HEe o= UMY
Lict, [inward]
4. SHE2 HXH 42 WX 7| W20l SAE2| AXIE
UOotLl= A2 o{FSLIC [locate]
5. SHEO| YIXIE LOIH7| HshA MEBSIXES I A0
QU= HE TEEL [observe]

6. 2= X2 SHE 2o JH| ZEUS 5 USLICH

[materiall

. FRIE Y7| ofELIC [a]
2. 50| S Qo= WHSOHIIH H2 XMS WEEILICH
[a]

3. & 22 0| A& YAl shsLct [b]
4. E2 HOL QAL EILE| S5t =7t HeLch  [b]

5. MZSIKIEE o2fet XS Hn EE0| YRIE & =+
QUELIEL [b]

[so]

s0 o= @EAPF 21, such Flolls A MQ]
o

2. 20| ME0XI= E oiLtel HHE
=2 Zoj2|7t Y= RYULCE [is created]
3. 0|2 Qlslf Y=7t =2 X|H0| M7 |= ALck, [how]
4, 50| S W] ES FCE WU E= FHO0| H
Al gLk, [pushing]
5. IRIXIE2 SH420| == WHol= F 7IX7t AUctz
B [that]

Organize & Summary

EE00M 2 Y2E 02510 LS EE A3t

[Supporting Details2] When a star runs out of

the fuel to stay alive, there will only be gravity.
Gravity will push the star inward until it collapses.
This creates a dense region.

[Supporting Details3] When a lot of matter
gets together in the middle of the galaxy, it can
collapse on itself and create a giant black hole.
(B LIE1] SHE2 S0 Bert =2 XGYLch

[ LH82] Eo| %202 =220 %’}JEE' =+ AU,

U2 Tl 2 BIZIS A9 22S 2ASIML.
dense LTI &2 death &2 gravity

inward 9202 create DHSC} giant HIig

Sge SR U} £L NINYULI, BUSS 259
S3Z B 715 4 UBLLL He| 5302 SUS0| Y
2 4 UBLICk Ho| MES 95t 127t AR O 52
Bt el EiUCk S22 Ho| BWE | ooz Uof e
LIt} 0/20] 2ot &2 X8 BEE HYULIT, 2514 5
Aol 291 2 Hojal SAE BHE0JH 4 UBLIC B2

20! AAR ZEl0] Ll E2E

15



22344 | XIZI0] 2I0l0f B3t B 020] YALICH Ky MetHoZ AXE 0|22 T FAZYLIC T AR
X[zlo] £4010] Ximo| Bk T70] SR 2R QIrkn MBILICE X242 B w20 BU0| Xy, B
CIR2Z0I 2 BEORILICL X2 ool HE0l Lick A7 stoRe L2 212 ol sl 2
UMS DS =OIISLICE 0[S BHAF MURIME SACHILICE 717} 0HKD7| AlEtsIe! BHSo| 87lskn Riztel
OtE2 B0l ich BE0| X7 ERIOE Zsl S0 EE0R: el Kt Aolel 22kl 80l 7D

o o 7 3

A €Lt 0] 2S0| X242 Salf HALILICH AM B2 XIEIS2 AI—IS0| 7ol L2 £~ g2 B2 1R 4

LIC 2Lt X|TI0] £ ZAM SZ0M UO{LIH At 5240 X242 MH2]1, 1 TS0 AR Wof LIZiL|CH

0| k= =20 Ho| =52|1 A6t 22I0(A Euct Tl XTI T ZAM FH| U= LiZtollM X o

OfEfLICE. R2l= ME0| SZI0|7Lt XIZI0| YojLt= A2 U2 4= YUSUICH M2t R2= XTE 28 + U=
mEY R

(=1 —
£t A=, 8 12|11 ti2|E Ues YES H6H0F R 2= shAf ofalet 210 245 £ 4 UFUCH

=)
on

-

EI013H4 | 1,012 1 n. O AMHO|L} DS HTSI=S AIElE 2A0IL 042 7HX]Q] QASE 20ks2 A 2.X1Z i n
X|Fto| west Z2H 3.21S 1 n. BO0IX| &1 0lMstA E52l= S5 4.9 1 n. EXY XREA 2= =2 5.7

=
St a 1R 32, 2D, S S 7. 40U v, O A22RE SiE YUX| pAL e EX|

&
2=Ch 8.0k tn. O XS Ofulshs AL 2Ky

MZISHA | Each red dot is a place where an earthquake has happened frequently. 2t 2 &2 X|Z!
Of X2~ Ll SIR|LIC

Comprehension Checkup d. MHSE 748l %S & &+ Gstitt

A A ol oA Qlg| 2l o
it e S8 m2Ag 5. IR0 B Z7H0IA 2ojLiE 22 o] LofLiLie?(d]
a. B3 20| BXE SBLIC,
1. 222 52 20 B3t 321R? [a]
s eloale 1m0 b. 50| 2HULICt
a. XTIS Yoy e 2ol .
Ei S 7i= 242 221 c. Q71707 ArEiLICt
b. X729) & Qo= 20| U=t o
d. 7{ciet S20| X242 WL,
. X 2302 s U7t
d. 9f 92l o et weo| Bt 6. XlHlozE| P2i2 BE5| YstM 2012 a0 it
2. KR 2od|= 70| FAUQUXIE MHeH= 0|22 T2l = [al
0 T T T T?L] a. P2l o EE8 7Z2 122 Xlojo} U
717 b
_ i S ——
a.BUHOE  bETROE i
= . R2AE X7 B0l BX0K= 2B BEA oot &
cOSETOE o HifE B 02 _
#ct
3. BS2 ofclof ie? [d] d. 2= 9f of XSS T AHSECH o H2teix]
a. X|2} glof b. X2t Fof EHoiLHOF RILIC,
c. X[2} Br2ol d. X[2+ ofzfof
4. B2 AFISS S ZolshA [c] Vocabulary Focus
2. MBS i S Bl sedn 2} EHOfo| Y22 2I0iS 3o} SEBME.
b. MEISE el 0+ e i me a4t B e
. MEISE 79l L7Ix| 28U
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(] Ch2 wiZhi| Y2 ClojE T2AQ,

w

»

n

@

2

0IZS / XIZt/ RISS / Hlsl / FELAI 2 / ACic

B2 XX iR A0jshM ARRIE2 J%2 A2l Lotxt
2| x| Eghct. [barely]

Qals xFIS AL 4 Yl of OFskn ES5 2122 |

0fof fLict, [withstand]
o ARES X|TI0| WMsk= 2lof Chet 012 & SiLie
Lict, [theories]
WE0| X|7t FHOZ L Sx0[H 2S0| X[z
Solf HA L [vibrations]

Aot [crust]

WE2 X[} ofHol] U=
XIZlo| el ZAIAM ¢
U

e
0=
9'|_|
2
b
X
2
02

3t 520) 7}

on

1

. [tremendous]

72|31 0] TS0| X2t= Sall HAMLZLICE [b]

XTI T ZAM =80 Qs LA X ZofELct,
[b]

RIo] #RI2 X|F12] Tup 20| UFLICE, [a]

have to do with : ~Q} 20| Q/C}

0] TS w0l ol =52|1 S5k SZo|Al Lch

[a]
L= MEO| FR0|= UE U2 4 gisUt [b]
U2 CIOE St 2T AMEIML.
XZE eo7l= Zol| thsh E2 0|2 50| UBLICH
[causes]

70 whatS H4 SAF MY
X|2} ofzhof U= 20| HEYLICE lis]
what H0| F0{0|22 B4 SAF M

oE0[2t Z2l= X2 Alo]9] Z2kEl S0] gZlojAl Eul

ct. [called]
H2 K22 i Z0l6te AFFE0| Aol w2 £ gisU
ct [so]

E0| B7[5I X|2{] OISR ES HO{RHLICE,

[pushes]

Organize & Summary

[ E=20iM B2 HEE 01235101 LIS EE AMGIMIR.

[Body] When it gets hotter, it pushes against
the crust. Once the mantle pushes the Earth’s
surface forcefully, the plates move against each
other and send vibrations through the crust.
[Conclusion] tremendous impacts hit the crust,
and their vibrations spread out in all directions.
These vibrations cause the ground to shake and

move terribly.

[ME] B 7222 X|TIQ| §olo] X|7ef Bt 1 TS| F2

Yz} 2HHO| QUi HHEILICE

0

[2E] WS2 X712 X2} ofzie] Saiie LAMULICh SahE
A0 =AHYX|H X225 DofeiLicth L WEO| X7t #H
= ol LRIH To| M2 SE0|HM X|1S Sl TS5
ErELICh

[ZE] XITio| Tel FAo M LHisiH xjzofl HFH 20|

7teliX|2L, 3 FIS0| AHYC 2 THALIZLICE

(o] Uor2 clof2 BIZHS fHY 228 2945tHS.
plates ™= mental & crust XIZt boundaries

BAME directions WS vibrations XISE

T PAES x7I0] §1910] K70 Hat 1 BEO| S} 7
20| ickn MBI HES X2t Ofef SHE AL
S0 CASIKIB 0] X122 ojEiLICk UEH 0] x|

HHS 2obH LI Ho| A2 SX0[2A KIZiS Saf 7l
S2 LI xIZlo| Tol ZAIA LSt Kizio] 2
Lt £200] 7f5AI2 1 F150] ARO= TRLIZLIC, 0] ZIS



Science | UNIT 8

EEal4 | 02{20] TRE 2= A2 STYULICL BE, M, ARE|, X0 227t & 2= S7IHK| 2E Aol =2
Yok, JE0E SE2 FALNR? 222 HAR FEE0] e, HAS2 HAZE 70 AsLIC BHAls

=
OFF Z0tM 22|17t 22 Ha{H 45t H40|40| LRELICL S22 Lol |= st 2617 |= Bict 22| d==

SURP7} OfE A BHRIEI=R0| SrRISLICH SRS S0J5t ARIS 7D UBLICH G2 T o] Mol of
B KIS ARBBILICE T2 KIZ 1 A2 Fo| HAl0 S40It LIRS AKBE ZiiLich 0/ ofstm 34t L
2 ZiTHs 2 GRS AT QUSLICH SHO| HTS W 4 YALIC HEH UOJLIE WHE £ IR} UG
LIk 232 S2doR S2 HSxoR Wt 4 UALIC Baix Wil 222 o & 4 BT B0l 12
2 M5t QA2 Z0[0) SRR HElS Jket HLICL BHS 04Hs| B0lLIh EIX| 250| Hat ZiiLict
Sfat wisle B30| RIAPH HE 1) LOfLILICH B3R WEp} A7 |Bt W22 S20| BISOfRILICE W22 232
LIS7} HR0IA B 1) SHSOEILICE L7} ER= S0t T1200] 22 M2 Hate 22 2 4 UBLic T8t 27| 5
OlA] Off HAME 22 4 UBLICE LIRS SI31X WSS U071 Ao OIABIERA TPAR WBtLICE

Bl0fahAl | 1,BIRICH: v, & £712 52 OfE AfRlolLt S710] THT} 2,814 1 n, 2 Zio| 745 7l2xiol 23 3,80/
n. S &2 SZSE o 2| 2P Si Tet £7 4. 52l3H: v, S0ILt RISl 152 SHet A ML Al &
[} 5,54 n, Ol 219 S

8

K on BRDPE RS W HE HolE

o o T o m

stz omre B mEMe URI= BN 4 AL
. 220 x2 Dol st 207I9? [d] Sa|x $isp} Q0ILIX| esLIcH

a. 222 8902 Bi=o{x|=7}

. o Cholorzes oo 2ieb 6. DI2 SIS ERSCIS OfE o] oiLtR? [b]
. == U+ ¢! . = =

c QH 2XIQ 7}5t A Ol OFSH A o||_7|_ a ngjl' §|-g|l-7£‘|| tﬂil'% %OH LI"?‘E 71"/—':' LE-Il‘Ol- 9;\|§L|L—-|'
. =FEC o= T -l e M

b. 27} S181% HslE S5 X2 HECH

d. SXo| EXnl EM ) )

- Te c. 27} B151A HIBIE Saf A0} Qs LISR BitLIC)
AL Bojoz E|0] QLIR? [a] d. 2RHE ofHst 22X EE SfaHY HatE LojLIX| o
a. 9%t b. B3} s
c. 22 d. EN

RIS 5] S 22l 20 BRsiR? (] oeabutaryjEeus
=PI |
a.=d b. 28 2 Clojoll 22t o|nj= Slof AL,
c. E4 5012 d. ez 2 a4 s 6
ofl 23t ARIO| O 22 001747 [d]
= — = = AT T AL
LIS wiZioj YBLS ElojE m2AlQ,
27 YAz 0|20fH YL SR
xS 2 E40| YL OHRI /A /30|17 / HHRE / Salxol / sf3txol
SEE ovit o + st 1. Z0|= Xt=9 Folof Sa|x0l WS 7 ELich
RO Fsixi0R BiEt 4 QALIC

[physicall

. BI3HR B} ClojL, _ la] 2. X OfEA B A=K7t SEHO| B=5 ZEYL



C. [arranged]
3. LIF7 20 EfH O LIF = Sisel HEE 5L,

=T

tol

[chemical]
T 2 X0| QULIR? [touched]
5. OA[St BXIE E7| Sz EEst oi0|Z0| 3L

bl

4. 23715

J

ct. [microscopel

6. SE2 HAZ 719 U=, BA= BAE FYELUC

rlo

[elements]

s
rF
A
£

1

AlSHAIL.
1. LIRE oM HalE Lo et OjMalEta TiAz H
Lict [a]

2. SH2 AR T oM HAS2 HXIE FHE U
&Lt [b]
3. &2 Zdl7|= st Yo7 |= SfLiCh [b]
4. JA2 R 1L tiEl=Xol FAdsUch (bl
5. sl Hsl= SXo| Xt of dofgLct, [b]
U2 OIS St 2SS A4S
1. M22 S22 LRV} H20iA 2 of SHSOPEILIC
[when]
2., W3 UolLis WH2 F 7IXI7F USLIC
[happen]
3. A2 B0| il &0 SMHE AR AYLICE
[instead of]

paper?t BHA0|22 HMx|AF instead of M
4. A2 B0of S2XQI HSIE 78t AYLICE [making]
5. LIF7t Btz 32 JA0| 42 M= Hok= A2 & &= U
&LICt [turning]

see= 10 BYANE SHAEHE MX| ¢S

Organize & Summary

ZSZ0M B2 HEE 0|2510] LIS £5 2MJsIMI.
[Supporting Details2] You use your knowledge
of the properties of matter every day.
[Supporting Details3] When you color a drawing
on a piece of paper, matter is still paper. Only its

appearance has changed.

[Supporting Details4] It happens when the
atoms in the matter change. When the wood

burns, it turns into ash and carbon dioxide gas.

(B4 Li81] S22 HAR 0|0/ U

(B4 LH&2] S22 CIE E452 71X U

[ LHE3] S &2 2Kz Hal 4 USLICh

[BH Lh84] S22 sleixoz Hat + UBLICE

[MIF LH&1] Has BAIZ OIF0M gLt BXt= |UR &
OtM a5 EaiH St #i0|Z0| ZRELt

[MIF W82] f2l= 22| S8l &t XAlE i 08

Lick.

[M= LHE3] Solof 22iS MESHH SR2 0Ts| S0/Y4

Cf. EtX| 2 2&0| et Ut

MR LI4] sflx Hah= SRl = EAPE HE 0f 2o
HUCL SHE B STH= Mot OfieiEs TiAZ HE
ct.

U2 B2 BIZES A 2E2E s,

rlo

elements A4S Atoms ®XIE properties E4

= paper 30| chemically 3f5tHo2 ash i
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AR 0[20{K YBLIC BAE UAIZ 0J20{K] &
. RIRK LIS RobA 248 it St 30 Z0)
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=
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2
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r.
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2
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]
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rlo
fob

r
Ml

!

+

39

>

i

o

l?ﬂ

]

12

e

fo

FI'F

{0

Tl

=)

30

rr

rio

>

2 |
o

3

= R

ne rE

-1
re
7=
i
rt
o

OfELICE SRS EfRH IH= et oLt

19



Social Studies | UNIT 9

EE6i4 | 2UEIHL A2 0|=2] of2|EL F SR Xi2| T USLICE O] HIIFEH0| S32 #2E =0| H
= Y=LCh JMEILA2 Z0[7t 450Z20|E Z1710] =|1, HOl= of 2ZZ0[E LT =L AQ| 24
2 712 4001 7H2| CtE AMF o= O|FM UEUC 59 2 52 X7 HAlR 27| T2 AZIE EHEUCE 71
K2 52 X|F Joll SE0| 27| W MRH ZARUSLICE 0] F52 Chyet 1=0f ZH UM B2 MAKIE 7t
X2 AELIC 4 Fo| =50/ 0] AMAX|0f 1 UsUCE 2 FH0ll= Z2H|, A3, G|, J2|0 =
=0| %E.”—IEL Ll °.=.4—._-'0i| a3 0f2(9] BtF, 12|17 H2|ZL|0f =27t Al 5h=2 oIt & Koil=

-
I>

z2}
TAER|L B 0199 YA BB 5050 EREIUATLICE 0] BT HAA HiSio] 027X 2 FHX]
otz 7/%, cror%_r i Aol Lt HA 2R 71 S R0z 7 |ErH|LrTsa+n|$LrT7+°'AL|:+
= O L2 SALIRL QLI BTO| BTk Aot 22 RO Jha S5t AIZS 4

o

A2 Eol T2 FaMY XH0|7|= LTt o= H#FT £ES0] shif 30l ARt ZL%'E'JQI —.ﬁ?_f RI— o
SAUBLICL HIE X2 60039 SHl+Ii0|E2H0| HOIUAIT, 635 252 H g5 ol 42 JUgUCt 0=
FR= sidlemtolFa 252 2315 2E517| floh 0] XS EEXH2Z XIEsIUSLIC,

mlI
=)
§I=l
=S
re

EHO{3H4 | 1.50] 2sl= @ a 01 CHERS 2.5 1 n, HEHO| 22 ofF S2o| 5t A(FH) 3.5 f12| =0|
4.0[2|M2| ©ECH: v. F= 71 ARIS Fefet =X gl0] SOICILCH 5.Z7F (n. 7|0 27E Ho|H, F= &, 20
|2 0] 714Zl 2ES= 6.20T: n. AIFS0| A= ZAIL; HA0M BOIE 7. X1F5IC : v. O ARZO[Lt

ol Lo|Lt SXES ol oIt 8. 2TSICH: v. HaHK| 2 HElZ RXA[SHAL X|7|Ct

I:

r:|

mjo
Jlm

U

AEISHA | bighorn sheep 2 2 OpM QF

" O M=sh
Comprehension Checkup a. e ML
b. 2 74| 7|27t USLICE
Jhe gk eg mENe c. S ALIRTE QUELICH
1. 222 52 290 23 2eiR? [d] d. 71 E3t N MelgRILr)
a. JHEHLIO| LRt S2S
fLIEte] SR S5 6. TASHHLI0] B3 285 x|el 0lRs 2otelrt
b. 2HEIHLA2] 2RIQF AL on c]
Ryl C
c. IAUSIHLIOIO| LB 25HE x|l 0}
a. IHEIHLIA2 HH|7F 2Z20/E0l| A 20ZZ0/E o
d. AL Hmet SMES _
EF3H_|E|-_
2. 0|29 =LA of|of ULLR? [c] b. 7V OR2iE2 X0l 80| A7| TRH EXRE
a. HHE2LHSME b, OO BAZ LIk
c. Of2| =Lt EAZ d. ZH2|ZL|0} EAjZ c. 0= |R0IS0| Shf MM SE5 Z31E FRS
Lick.
BHEFHLIIS HnpLt 717127 _
3. SIS S0h 2k - . Ba7| F0| 7k Mdiel Ji2eILRet olRLeot
OF 9271 OF RZI
a. 2F2ZI120|F b. 2 6ZZ0|H olaL|ct
c. & 29Z!20|E d. oF 450Z 20|
4. 4 FHOM= O SE52 £+ ULIR? [a] Vocabulary Focus
a. AL b. B2
. d. 2 AR@a) Z} Chofof] LASE2 20|E Slof HASIMIL.

1.d 2. 3.f 4.b 5.2 6.
5. JHSIHLIAS| HIE(M)= . Idl

20



g S8t/ 5/ 1 / Hhslsict
12| oEl / RSt

TSI 1S oF A07HO| Ciefst QAEOR O3

X oaLICh [layers]
oI HTOIM AR e B2 Ha|ZELiot et At
ot 5t=2 Hislol= A2 2 & USLIC [roam]

T Mg
E7iLIO HE2= £0| HE =L

[breathtaking]
Ha| = OF o= OfRl: 0= HF0I0| A1 Q&
Lic, [remote]
0= |0l OS0| F3HE BSa| fsiA, 0l=2 HE

t7
= M = R0 = ot X992 XIEFSLIC
[designated]
JRHEIHLOI2 CiFst T=0fl ZA UM B2 MAXIE

Ztz=1 Ql&L|Ch [elevations]

o= 20| ZAISIMIL.

a4l S9| S2=01 0] MAIX|of A2 st [a]
JHEFHLA2 0I=9] OH2|ELE F SMR| Xf2| F2
UL [a]
& IHE 7MY M=t X9z 0|RUSIt st
[b]
S FYOIM HiSoll 0|27 |7HK| Chfet LRt Al=0
AU [b]
M 2 B2 380| 27| 2M MR EMRHELICb]

g2
02 &= 0| X|¥E E-X|HOR XIHsI¥ELICE [as]
=271 A2t 5k
2 HHS[ELICE [Thousands]
thousands of : 4= F12|
5Ol 2t B2 K| GAQ 47| CHE A7IE EOFELICH
[layer]
each Fl0fl= S HAF XY
50| HIH2 Aldlnt Z2 oz MoIFo| 7ha S8
ch [where]
the floor of the canyong HHE=

HE AL where A2

5. 0| HIEN0| 349 #2= &0| 2 F=Lc,
[breathtaking]

Organize & Summary

Z2Z0/M 2 HEE 018510 LIS 5 2sIM.
[Body1] Hundreds of species of animals live
in these habitats. It also has several different
climates, and various plants live there from top
to bottom.

[Body2] Native American groups once lived
there and created unique cultures. Still 600
Havasupai live in the remote inner canyon.

[ME] EMZ0] U= THEILAC| 2= 50| HE FeY
Lict

[E221] TSI Tifst T=0 2 UM B2 A
XIE 7HXI2 UELICE £ Zo SZS0| 0] MAIX|of &
QUELICL THEINLIAE Eot Cilst 7IRHE 7HR|L e
o B0l JohH7|ofl 0|27 |7EX| Cifeh AES0| &1 &

Lict,

S

[222] aHEINL 2 £3H SR8 ZK X[H0]7]

=
. 02 FFPIES0] Sy IR0| Aoty 55 2518 HE

SLICh 04715] 6002 SiHf~Ii0|E0| H E= ol &
1 Qs
[Z2] 0|7 2= 0] X|9nt 259 2315 BZ6p| flell §

& X[92z XIS,

U2 B2 HIZES Al 22E QUsiMIR.

breathtaking &0| ®& K& elevations 1=
species & cultural 28tX21 unique =E5t

preserve EZE5ICt

SMZ0 Us JHEHNLAS| ARE S0| HE FH=UCh

T2 Trefet D=0l ZX QoM B2 MAIKIE 7t

X2 QUEUCE 2 Fo| SES0] 0] MAIX|ol A2 UsH

Ch. IR ot TSt 7|2 S 7HXI A2 HiE
0

OlM Zeh7of 0|27 I7HX| Chfet AES0] 1 JUSLICE 3

SRS Eot F25t 28 K0P |= BT 0 ¥
FIS0] Shuf IR0| Alokn S5 22 AEBSLICL O
25| 60020 BHHISTIOIZ0| B B OZ0f A1 YLt
02 FeE 0] Kot 250|318 BES| I3 S X1

o2 X|IMMELICE
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Social Studies | UNIT 10

==l | o RES m2lel BE WM H0l7| thEof mi2|ofAf oRES EX| e A2 S7tsELC oEE2
1839 LA HH 100FES 7[H6l7| gt MAEHEIZoR AFEIUSLICE 0] Aot HEE 3000|E =0|2
20t UBLICE 194(7[0f] ofZEN0| AS IS M, MAIM HY =2 LESOIRELICEL DF ZHEST= CEA of
HER2 T Ile| EHES Mletn= B7HE0| Ha] Gl MUY LEJSLICE epet HUto| 0] HE2Q MEE M
RELICEL 0] B0l mi2|o| 2&S SRR ARIS2| 0|52 A =IUSLICEL E2 HIEIISE 0] §o| =AQ]
L0fst MAZ HIHSIX| St H|HEIRELICH O o712 0| 74thst HES 2F 2oty SLch 32
ol

H
UE0] Wt O ESR 2ieh Z{=]7| F0f 2098 IS OFOIHSLICE TR OfHERR Hefst et 2 7E
4 QUUELITE ORER Bi|o WAS SI3 ARRE| ASBIAT, 23 Al BRHUSS ofuES YA
712 SIELICL 4412 O/HES B2 7} 7I9A0ILI BAP} SRl A7} SiRieLch, BBAZICH ORI
da| iRl MM B S LI

N
i)
=
=
=2
e
=
0z

EHO{aHA] | 1. 51243, TAIZ] 1 n. ARSO0| 7HM & 4 QU 38, MY, E= TE RS9 TA(TE) 2.8 1n 520 20| &
2 USZ X X|OIM QUALE Mot ws| ARROZ X0 A 3.1F 71= 1 n. Ui =2 Al A2 2= 4.5719
LT K2 ALolofl Q= 5.FAUE o AL 027 ROISIT MBE 6.2 : n. MES0[ TE MESEL O €3

o[ =H5h= e 7.0fuSiCH: SHA[SICH 8. E4SICH : v. ZFSICt

AEISHA | 360° panorama from the top of the Eiffel Tower(photo by Armin Hornung) O Zgte] Zoh7|
OflA A2 360 mH-a2toiol S'H0| B2 ARK)

Comprehension Checkup a. &5t b. 7i2 2}
d. A

c. SOttt

6. OZER 15 71250 {EA ERLR? [a]
1. 222 F2 20| 8t =077 [c] _
- - WIS Y TEE THELIC
a. of2Eel 37| OfIZiEr| =0|
b. OfRIENOl= B2 S220| UUBLICE
c. OfZEfQ| HAt d. MA =S| 2f HAt -
c. OIEl= £75S0] UASLICE
2. OfEr| £ol= Aot E[LLR? [c] d. Ol HEL2 AlYOIA & 2 URASLICL
a. 190]gf b. 1000|E{
c. 3000/ d. 1,8990/E v°cabu[ary Focus
n l— [eg]
8. OfEE0I= OfE M=t ABEILRY (@] 2} Elojol 232 ojnlE 3o} HUBMR
a. =8t A b. Zut AHE
=TEE = 1.d 2.¢c 3.1 4.b 5.2 6
c. HE d. 2ot HE
B _ . CHS HiIFtol| Y52 HOE T2
4. It of2Eo| =AQ] R0fe EME BYsHX| ZJICID
aiSTIe? [d] Bt B / 15 HES / S22l /
_ 74z / M 715 ,\,; SHC|
A SIS b, LEXIS A% [ EsICt / ~of7 |2 JHCH
c. fl7IE d. HEE 1. SEXO| 2lof w2t O B2 204 SR MRS 6l=0|
. RELIC, [competition]
5. 2% Ol&7(E2 0| 7ot HEE i _ _ ) _
o 2. O2E= F7t50| T5] gl ™ 2ERSLICE
S [b]

[intermediate]
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3. 7{Cht HER! o #ER2 3000/H =0|2 40t UELICH
[tower]
4. 0E 71ES3e g2l oEER F el ESES 2ot
= F7H50| o] SiRELICE [skyscrapers]
1 B2 Hoiet 37| thZol| &S 4 QIUSELICE
[tear down]
6. 11 E0| 7Ix| Y= Al fHe= 0|=RW7| WEo o2
=

AlE OIES 57 F712 &Lt [opted]

2= 20| EAISIMIL.
1. JZ2 MIARIA 7 a| Yedzl A4AE & sttt =R
&L, [a]

2. 0] Eo| Mol 2&5= ELIXIOMR} AlFES| 0152 B

Al =|ELC [a]
3. GAo| T m2|2 s St fEES 2X| ¢
A2 27tsELct [a]
It is impossible not to £H™AL : ~6HX] A=) A2
=7ts6ltt
4. [EE2 U2 =271 7|E40] Eal= HATL Z/USLICH
[b]
5. &4t HOt0| 0] ASF S| fH2E M¥SLICH [b]

U2 CIOE St ETS AR,
1. I ER 20 WES floh ABE7| ARRISLICE
[be used]
2. 1 =2 Hiist 37| H2o| ZEAHE 4 }ELIC

[to tear]

3. OZER = 7o EMES Melstne S7450] S o
= 7 ARG [except for]

4. U2 HEIVIE2 O7R0] £A|2| HAS HGsIX| Retttn
SEGIRELICE [that]

5. 0| Cist HEL2 3000/H =0|2 &0t UELICE [rises]

Organize & Summary

ZSZ0M B2 HEE 0|2510] LIS £5 2MJsIMI.
[Body] The Features of the Eiffel Tower
This iron tower rises 300 meters high. Unlike
skyscrapers, the Eiffel Tower had an open frame

without any intermediate floors except for two

platforms.
[Body] The Criticism of the Eiffel Tower Many
critics claimed that it did not reflect the city’s
elegant character. Some artists called the iron
tower monstrous.
[Body] The Preservation of the Eiffel Tower The
tower began to be used for radio broadcasting
so city officials opted to save the tower.
[ME] oZE2 1889% ZA S{H 100FHS 7| st st
MIAZZIE s HM=ASLICE
[2E] oldEfe =&
0] &2 3000|Ef 0|2 £0t JUELICE CHE 1F U=
CHEA| o 2ERR F 7Hel 2HEE Mstis S250] Sl=
WY FXRE TRELIC
[22] olEfol ChSt BIE

L2 HIEIVIE2 o2E0| ZA|Q| R0 EMS HIHSIK| R

ot FEAELCE €2 ols7iE2 o ZEo| 1iE 2oz

;OII

ol
=

S

[ZE] oigEe HE

0] &0 2iT|2 WES flo ALBEI7| ARGIHEM Al SRES
2 0| g2 g7 57|12 st

[Z2] oE2 M7l 7Hd & 2eiTl 482 & sirt =

St
U2 CHof 2 HIZIS &9 222 QUSIML.
celebrate 7|gsiCt platforms SHE() elegant

L0t monstrous #E Z2 broadcasting &

symbols &S

O 2 1880 ZA 24 100FHS 7Iot7| sl M
HiEtslgo s MMTUSLICE o HE= 3000]E =0|2 L0t
=

b= T2 oiRER = 712l EE
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E251A | 18761 38 10L0|UELICE A= HAEQ| Q= X2 ASAO|IRSLICE S HEH0| “Sta 2, 0]2] 27,
A7 2est. 2t 7|A7t Yeke 2 EEUCE O HER 2 Yoz F5| 2t=0, I gl 19| 18 o
ME 33|0|H #o| 19| HE QFofl ot URSLICE 0|Z40] Moty |2 MEFE 5 20 |RSLICH Mety |7 LEE|7|
H, ARE2 ™ 72)of HAIXIE M| IeiM MEE 0|E5I¥ELICE ME2 BXIE ol0jol= B2 2l= A2
£ TME Sl Elis SAAAIQYLICE HWe otd MMo| MEO| BZIES MEE 4 QICHH, HMOo| Al LA
Bl Mt 4~ Qloa|gt MZIgHELICH "2 T9| X4 Skaut S| ASZ ARSLICH ol 2 Sl 27fEte
2 Ho| Msl7|otf| Rl= 7H=CIZt 4 Z2 BZELICL CIE YoM #2 Jo| WHI0| XSoIHA AZIE U= A
2 SUSBLICH A2|7t MMS Saf| 2 HULIC 'R M7t MME S5l 24212 BE 4 Qlrta SMELICE O
S i} SEA2 MYIZ 012510 SM2 BEY 2 = 7IAIE NET| ARGIRIELICE 2740| e |REL Ct, 18774
L Mot SIAFTF MBEEID O F B2 M |7F ARBEIUSLICE W XA sty Al RoiSHR] itELIC
CHAID] = He MBS AASIGISLICH S 19221 82 220f MAIS MtSLICH J= iR A0t 12| &
glAl SOt 20l0lM= I8 F2ote S£o=2 My |7t S2|X| §USLICH
EHofsHAT | 1. ASIAL : 0 BISIX} AISISILE BRIES ZH|SHE ELSH 2,7|7 i n, EES 2HS Q5 AIREE =7
Lt &X| 8. 18921 : n AFRIS(UEE)S TE5I= AR, 3|AL £ 712 4. LT : ~—I ol|o|7} =lct 5. RISSICE: v, i
2/ SE2|ct 6. Z0f5ICH: BOBICH 7.52510t 1 v. ZAGICH 8. KAl n, E2 MRS 271Ut 3EGHE QA
o [e]]
Comprehension Checkup BiLIC,
— 5. w2 (ol)2tm A4zizict [b]
B} a. 12| A7t J0i|A FolE CHAFK| 2 A
1. 222 F2 200 &t 2727 [c]
b. Mo| Q70| Sl= 2 FE S US A
a. 2 o B =2t=7t
c. 0| QIzto| BARIS HLS 4 92 A
b. AFHS2 K/ M3lE AtEst=7t
- e d. ARISS HAIKIZ F67| YA =S ALt}
c. He o2 M3 |E UHsI=7t it
iC
d. M3 |= g ASsk=ot
) ) 6. Ho| ZyAl FSOf 2otm2|7Ie] Malofl= o™ o] Yo
2. M3t UHE[7| Mo AFRE2 HAIXIE M| ok
cois AR . LHLIR? [d]
= % Rl a
=T a. M3p|SS &S 4 iBLICH
a. Mg L7
b. M3t 227t 22|7| ARZHSLICH
c. A= -1 )
c. M3V |52 =EUUELICE
3. S ofx| XMEIB|AIE MIYLIR? [d] d. #E FHslk= o= My |7t S2|X| LUSLIC
a. 18761 3% 102 b. 19224 88 2
c. 19223 2hoj| d. 18774 Zof| v°cabulary Focus
a. 92 M Ho| Tap| Wi EgLC)
= se=Tae 1.¢ 2.2 3.f 4.c 5.b 6.
b. YEIME J2f|0|Y Ho| M7 |E LHESIRSLICH
c. Y2 M3IE WHs | Hoj| MEE WHEIRSLIC CIS HiZtof Y2 CHOjE T2,
d. Mal= Szl MPol7| 2ol M7|1E A&dt= 71A|
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A/ 71/ D& [ Hofsict / £ He / A

fRIA T2{|0[ WIS otAo| TREGIALICY
[employer]

AT 20/ W2 DE ARSI £ LS

ct [admired]

nE

H M3t SIAE MEXIT AL G0l RofstXl=
[take part in]

H7IE 0l8sted 24 e + A= VIS s
X

52
o %2 Tlo
it}
T
iul

N g
> T

[instrument]

|'|JE

A7t X2{Xl= 32t B0l0M= I8 FE6k= £
o= Msp7|7h 22|X| LUSLICH [funeral]
O

OHK
s
Hel7l= HAH Qs A2 Ao LEASLICE

=

>

[laboratory]

= 280l ZABHMIR.

nE A

2 19224 82 220f| MiAS MitELICE [b]
A9 £ AIE0| LIREZ T AJX| M2

0]Zi0| T3P |= MFE X Lo|USLICE [a]
words F0l| that(which) wereZ}t A2FZ|0{ A spoken

(=

=

=l

22 A7j2toz ol Mabloh| Yl Jert B &

AT

=2 FNSLLCE [a]
a7Io2'eH= E0|E 2 with MY
el J= B2 HEE AlSstisL [b]

A KA T1317 | Aol 0I5HR| LRUSLICE, [in]
z 5t HIAIXIZ 2= AALICH
[sending]
J= i £ZE0rM 19| FelAl St ZojoiMs I8
FDok= SOE 7|7t S2|X| LRUASLICE [so]
so ~ that 1 4 ~allA---5iC]
242 BU7| flall 71 olgst 7IAE BT
AZfSIRE LI [used]

xt5
W2 HI7H S Soll SALIE 2 4 Urtu S

x
o
ofm

SLct [through]

Organize & Summary

220N B2 HEE 0|8s10] LIS 25 2R
[Incidents] In 1876 Bell and Watson started to
make a machine that used electricity to send
voices. It was the telephone. “Mr. Watson, come
here. | want you.” Those were the first words
spoken over the telephone on March 10, 1876.
[Incidents] By the end of 1877 The Bell Telephone
Company had formed, and many phones were in
use.
(18761 H] AIIS2 ™ 7z2lof HAXIE ™
HE 0|ZsIUELICE

E5h7] flaiA

[18761] &t S22 SA2|E MG H717H 018 7|
AE US| AESIRELICE IR2 HSIRELICE Kt 0
2| @7 Zil7H EQsH.” 0]240] 1876 3E 102 MV |E &

off TIEE A 2o|RAFHCE

(1877 L] "8 T517| S|AL7H HRE0] B2 Ta |7t AREE
AL

(192214 88 2] £O| Mi&S WRtELICE J= 3| ZZRot
M 29| FefiA Se BajoilM= 28 F25kE K22 Teb|

7H 22[X] LU

U2 CHO| 2 HIZES i 222 245IM2.
telegraph HE2 voices 24, ZA2| telephone

MaK7]) words & funeral &Al silent 1Q8H =
%t

1876 OIFIIX| AHE2 HAIKIS E2| EU7| 26 T=E
MEsIREU Eat &2 SALS HsiHn 7|7t 0]
8 7IAE BS7| ARGIRELICE X2 ARSI "

2, 0[2] 2| X7} 2RsH.” 020] 18764 38 10Y T3}

7|5 Salf HYE X LOIQUELICE 18773 I, "8 H517| SIAF
7t = B2 HE7 7 ASEASLICE 19224 83 20|

H2 NAS HSELICE 2= 3 2480 12| MM &
oF 2ojofif= 2 STt 02 3|7t S2IK| UUS
Lict
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2264 ESEks 0152 SEOH MRS 020 ISHE B2 da| e 0 RSA Aol &}
%710} Oli= 73] SZBIEH 20| OFZILITE, EEL i5520| FUOHHA EROfSSLICE T2t 1= SsAb=Tk= 57|70l
o B2 TEYALIC ZE 3 dlals of B2 XISAS DH57| ik Ust| ARRELICE 1 Al 2] el 213!
RKSAIS0] 0[] BHSOIH STt DIR0IM ARBELD UUSLICE EES REEAH 2 Ok T2|m HEES thlsts
Cf Af2fet DE4EH0] 2 H0[2 GAIRSLICE 19033 Ha| e 0| & wAj ARl ‘T A'S MASIBIA,

A& XS] M52 JHMstr | fleh HRRHELICE J2|10 19083 ‘2™ T'E SHSUELICL 2 T= thESollA| of

Lict, 22 T= 7[Z2| WithAof] dets oIFEU L 22 T= ZE7t ditel e £=20 o wi=A ZLt

e
ZUBLICE Xiel5] oS HEDH 458 S0l WHS 57| ARBIMSLICL EEE 05 WES ufzt XiSAPH S
X0[31 24210] LEAP} SiLIO| T EietS B 4 QITE SH= SN0 TUTBHS HLSIRSLICL Ha| ZEI} A}
SRS WS 242 OLIUBLICE T2 T B2 0lR0] SMSEE A 4 = ISHE HLSHAELICE SA
I ESNOI URIMMARIS) 7IES MR 7IR7igisuct

EHO1sHA] | 1. XISA  n &t 2.52k2 [ o, HSHK| §2 E= 7|HSHK] RAUE 3.3, Mz 1 n. EYE SR U=
YMkE Al 4.2+J0] UCH: SOIZ2 AFS 7IXICH 5,47 1 n Yoz USOE Y20|Lt /i 6. uSE i n At
20| O|Sol7Lt 2712 2 = U 2= BFQ A 7.24S St v, HX0|7{Lt S0ISCH 8.7IY7t 1 n. M|

£ ARSI BS5t= Al

Comprehension Checkup 5. dejEes (0

a. d
THE Y2 HE TENQ b. 20| Xt OFRE 22|17 H=E thA & 7
1. 222 F2 20| &5t 220127 [b] c. XSt 2ot okl 2|7 MES il & 2
a. 92| == oA Efof'gh=ot d. 27t e2M01 ZEZHS JHESHK| 242 A
b. O{€A| 3ll2| ZEJ} X=XIE LHAIZI=T}
oyt ] e} ;:1 rf:w 6. 2] o= 92 US Y197 [b]
c. {2 dllg| Z=7} X=XI2 YHHIG =7
o e a. 1= XSS wsiaLI
d. 28 T= 2 A9 O{E || CHET} )
b. J= XISAE YHAELICH
2. AHES dllz| Zeah= 0|28 SE0H 2oUg MZisHLE c. = % 7|AIES LTAHELICL
7 [d] d. d= % 7|AIS2 MAsiisLct
a. st=9| XISk} b. FE9| XtSAt
c. YEIXSA  d. D=2 XS Vocabulary Focus
n: % ARxH= B0{o|71Q ) )
3. BEO| X W MBAIE RALIR? [a] 2} Elojol Y3 0l 50} HFBHMR.
a. B A b. 22 M

c. BET d. 2E7z

4. ECE o 22U THES 8 SRS HLRLR?

[d] ASAH/ Z2k2 / A / A4, ORI / 2aE B0t/ &
=] = == ~
a. A b. LIE XtSAE 1. ZCE XSAP} O M2e mS400| 2 4 g 72ln
=Xt S8X0| xalax .
c. s& 7A d. 884 283Y aiodAL |, [transportation]
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2| o= 2o XiSKH AHe| HARIRELICE
[industry]
o= 50 SO0IE 87| $lohM 2 TE AARIELICH
[appeal]
ZC= XRSAPE Lot ofaf, 32|10 ZeE ohbig Aozt
1 ol afRELC [vision]
‘ECEl= 0|52 EE ARSI 012 XSAIE H2
2[A gLct. [automobile]
ZCJH 9] 0|52 A SlAl| 0I5 X2 A2 53 o
& o] OFgiLct, [surprising]

= 2 F2l= O £2 XISKIE 2HE7| sl Lotz | A=
&L [b]
started?] SM0I= 0 ™AL E= SHAK-ing) X
JA2 et el £=20F O HhEA ZeLE
Lich, [b]
muche Hl1gE FHFEZ faster A
T2t J= SAIEChE S71A0 o 2 TPSLICL
[a]
= S0 IRFMANFC] 7IZE M2 7I87I¥EL
ct. [b]
whoe #4 HAHHA0|Z2 o] &Eu Z2 SAt

AlH| 24

27| HA0ll= 2Z XISKIS0] 0]0] MMERSLICE
[been made]
automobilesE Fw7t BHE A0|2E IARESSY
MR
J2|1 oFElL 1908E ‘22 TE MASLICE
[designed]
J2 1 YAl OE o XtSxHEct #M o EEEL
ch [stronger]
than0| QeE 2 H|ug M2l
Eoe= X0 RIS IHLGINEL

=1

IC}. [efficient]
assembly lineg 1H F= AZAL XY

HEoE B2 0159 SMEEE & 4 U XSAE i

SIRSELIC [afford]

Organize & Summary

220N B2 HEE 0|8s10] LIS 25 2R
[Body1] Ford produced his first reliable car, the
Model A in 1903. Then, in 1908, Ford designed
the Model T. It was light, fast, and much stronger
than any other automobile at that time.
[Body2] Ford looked for ways to speed up
the manufacturing process. He developed an
efficient assembly line in which each worker did
one simple job as the car moved along on a
moving belt.
[M2] 82| ZEE 2oy KiSktel AR
[221] Z== 19| X HK XSS 1903 AlkeitaL ot
J2i7 1908 BEE ‘RY TE MABIAELICE 1318
T 20 1 YA| CH2 OffE RISRHRCIE 8W o £
ct.
[222] Zo= MESH £55 =0l=
O= 0|3 HWEE w2t KSR 22I0|H 212to] =FXPt ot

Lo Bt Si12 3 4 QIS i BN KRTYS

SRS

[ZB] 22| Z=E= 0l=9| B2 SMB0| & 4 U= XSS

U2 TR HIZIS g 222 2ABIMIR.
automobile XA}SXt produced MMZHCL stronger
o EESt process 1Hd, 2 simple thast
afford ~2 & {Q7} =lct
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é I'E rEI
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<
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225 | M7| 79 88 242 HESE £AI0] BE 0| AAIZI| TIEIYSLICE O[ZHI0F HhAs Holof QL= =
Tl BEAR 2ARE S0t 25| EA0| SHALICL BH0| 2% 8U20/E S IR/ UL HIHIS o]
LR | BURSUCE 2 T2, w4 20|, S, J21T S7kAT BOH7|0lM 0 20k LIRSLICE 0] £
M Z440| ZH0|S 30/E0)A 60JEf Z0l2| 2E0[ot ST Of2hZ SOMHBSLIC ZAI AT QUL 28t 2ol
FHZRE B0IM ©F 231 BHO| MBIRSUICH SHIRIE0| 7470t It Qi ARiSel Fig 2ofHRELCH Zmoj=
20005 71710] SHUASLICH 1709 HISHIQ BHA T AL XIH0IM PSS TiE 5 52} (fald z2isg
UZASIGIALICE 2200] BHo| 22| AIROIYSLIT B2 ALES0| 2250 0]F1 0| 0] XSS 1004 A
ISIALICE 18641 0[ZiRlote] TMBRISO| 0] SHK| HES i3t LS TS| ARBIUALIC w2l Z
22 97| s HEBUC ¥ 2AE BB 242, ZEX s, 1ajn AlLSo| SrsiisUtt 8 2xt
O[Z2 RISl B3} HISHS TE5H SAOfSLIH 20| IE 2 O T9IXIE! 871 % Hofal7t oA w2Az/R!
AU S2AIE D22 SR 20] 25 SESINE XU OfF5| TSRS ZHOON LS Aastn
QUBLIT L RSH0] EHOKLR| ORE 053 4 SLIC

0)

EHO1sHA] | 1. 1SS o BRI SSHQ 2.7 1 n, BE LIRLE MEHSO| iR 22 22t 3.2 1 n, Lo 2 BIZIX|
OF:

E
QISHA| ECh 5. AKIF

22 FAWITL LR Eilchs A 4. LSS v, B FAL n. O{2120| ARSH= O A
6.0} v. THE DE7| YlohM &, 22l = §2 S7I0t 7.42 1 n YSol=(7HE Tis) &S 8. It SXIE
StALE MRS XICk

. °osS i Lo o=ze qir Lt
Comprehension Checkup a.PESMLE ST b. PS5 HE RS MRS

28

. 701709 HiH|R ZX0|A th2|M 225

a. SI0|= oftiol| HXIStE A=K .
=S 0P| 2k

a
b. ZH0[2] #0| 0{ZH HEFIU=A| )
aolo] 2ot Kt b. ZH0| SEXIZ BZ517| s
c. =1|0 It 7 _
N c. 231 H22 57| Yl
d. A0ML} B2 ARIS0| HI4H|Q BHilo) Zurz e
7} d. LOiLt B2 ARIS0| ZL=X| LOILH7| sl
6. 20| Zmlo| Tt ARO| Ofl 22 29017127
. 0Lt B2 AfZI0| ZH0[ofM ZALIR? Ic]
= a. BEZ TPAQ AILIS0| WAZIRISLICH
a. 281 b. 2F 100H
b. 8 SOJ2|S0| oI LAIAUSLICE
c. 2F2000H d. 2F 20,000
c. & BEE ZTASS0| WATUSLICE
20| Z0|2 £H0|2} 3L OffZ EQLIR?  [d] d. Z3USS0M B2 ESS0| LAZUSL

=

SfA =Ht Z} CHojofl %42 2|0|E Hot TSI,

Io
Iy

17

Il
U
]
L

27 a] CIS HIZhol| 252 TS T2AR,

a.
b. OIR(AAIEHO &3] L= ZIR) Vocabulary Focus
C.
d.

c. $22 IE TTSNE d. DB TE SABIKIS
7K ot Eg maMe,
i 5. O|Zi2lofe| musiaise w22 gy
. B22 72 200 et 2207197 [c] "
LIk [b]




[digging]
2. SMORER AL J1=27} R £E0| 12|17 STIAT}
LIZHSLICE, [cinders]

3. 0| M2 HsH|2 3t ZH0| ZH0IE 20 HIUEL
ct [eruption]
4. =00z X6t HESH AIRELICE [prosperous]
5. AIZISQ| Tt Ci2 ARE2 K of2fiol EsIHTEL]
ct. [belongings]
6. ZW0|Q Y22 AFLE HIE o7 HELICE

[excavations]

o= 20| ZAISIMIL.

1. O|Z2(0te] D TSIXIS0| U=2Q| MAS X|7| AZBIE
Lick [a]

2, EH0|= Y15 HEC2 ERELICL [b]

3. TAlofl A7 QUE 22F HO| AFK} SoIM 2F 2 Ho| At
YELICE [b]

4. JAS2 SRl K0l 25 2EQUE AYLICE [a]
had + been + pp : IHAZLEH

5. LY FX0| =feoteX| OfRE oIEE 4 flsUct.  [b]
=2 =
o

what Z0j[A tomorrow?Zt L3 A= will come

1. Z20| QI < OFR! 817H W o2 |7t FRELICE
[were baked]

2. =S IE 8t S5Vt Ui2|M ZZES LASIUSLICE

[digging]

3. OS2 2000 71710] Ea{UASLICE [buried]
4. ZH0| £% 8ZLZ0|H =3 IXBHUT HiH|2 Stito|
X7 | ZUFELICE [located]

o
I'OIl

HITHEO| Al S2| &S 20HIELICE  [sealed]

Organize & Summary

ES20/M 2 YEE 0I8510] LIS EE 2MdsIMQ.
[Body] In 1709 A farmer discovered some
pieces of marble near Vesuvius. It was the

beginning of the excavation of Pompeii.

[Body] In 1864 ltalian archaeologists began to
take charge of the excavations to preserve the
ruins.

[Body] The Outcome of the Excavation Well—
preserved buildings and walls were found.
Loaves of bread that were baked on the morning
of the eruption were found in a bakery.

[MEZ] ZH0l= 712] 23 | S0t 2SI

[22] 47| 792 88 24, B2 3HA0| 2P| Zetsfof
EHol7} 56| Yoz 2RALIC,

(=] 17094

Bt 527} Hi4HIQ S 2RO tH2ld ZZSS Ui
SLICk 27{0] Zwjo] 222| AloOIALICE

[22] 18641

olt2lotel TMBRISO| KRR HES st w0l MU
X|7] AESIRELICE

[2E] g=29| Znt

& HEE 7SS0 HIES0| YARJASLIC St 2F O
off AR ¥ Hoj2|S0| W0l LUHAZUSLICE
[ZE] 0iTf5| T usIRS2 ZHOl0IM Y22
Lick,

U2 Tl 2 BIZIS a9 22S 2ASIML.
buried E&ICt erupted 2&3Ct excavation &
= archaeologists 1USIXIE preserved E&E

continue A&3SICH

SH0l= 72l 28 J St ZHUAASLICL M7| 79 88 24
2, HHI2 SH0| A7 | 2ESI SHO|7F 24T5| G452
2 SASLICL 17002 3 527t HilrH| R ZR0IM Th2lA =
Zt52 LUsIREUCE 20| ZHo| Y22 A0S LICE
1864 O|R2[0t2] TUSIAIS0| RAX| 2ES g E=0f
HUS X7| ARGIRELC & BEE HES0t HiES0|
AZItEUC 2 2E OFHol TR W Fol2lS0| wH
Ol LA UELICE TS| USSR ZH0jofA &

A& AUSLICH
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bl
r'E

EF6i4 10060 48 182 2%, BRIGr 27| 0|S0| METAATS ZERISLICE 2 5AI7H 5 X|LA
o PS

%
X[ZIo] ZELCh XIZ2 of 50x S¢t ES HIEXD 2EXIA HsHC

i S%iot fo 2Lt M AlZE 2 2 Y
APt ZHELICH & HI Athet XIT0| =AIS ZES M, EA| X7t ESHSLIT 2550] FUXL Ho| =25
1 2|12 FXUE OIAZET} 2|0{M ERASLICE T2|7 LMo DRYLY X|TI0] gL ct. 2Lt ZI2f9] Alef= of
A BUX| EUSLICEL O SAI HHEE ARS2 Sz & 2ol A4%7| tZof S 7tAH0| miu|=x} 2ts W
0| i= BHRH7E AMEIRABLICE oY Hap o St ALE 2= M ZAIE SHRSUCL S85|: Rl o=
2 Al XEIeZ mh|=ASLIC TS A2ieh 1 EAIQ] AMMHO| Hotoh= MHHO| A HI S| 4XICH= HeL

Ch. 2 910] J2|2 X|=% glo] 0| =22 ZAl= LE 2Hol| SIS ZIstet o~ UASLICE MIZAAT X|TI2 Z|
2 MRIeZ 1 mfsizt 7|SE Aiigh XXt MsiRAELICE 22iLt o] XRIQ] S22 thes| XIZI1Q| #27t 0
XZIo22E LA & metd gutof JSLICE MU= Z2H 0] XIZI2 X|Zlof et mets ARE SHUSHELI|C
1906'A0] LT o] X|Xof| st 2A2 2= X|2} HiEH(elastic—rebound theory)0|2H= 0|29] EHYS 01T
O{ =L, 0| 0|22 X|ZI0| YojLt= HRIE MYsh= Ol =22 1, 25 XX F7|0f Chst =

OfRA&LICE

A

EHOEHA] | 1181 n, XI7El0] 2t SS20| QU] FHe| FiHe TR(0IE) 2.HSCH: v, O S SEEt mo 5]
L Ttaich 8.2 v, HECH 42K 1 o, LIZE US0{El 5, 235]% : ad, 20| ST 6.5 : n, SaixiLt
IS 24| LIRS 7.AKIES n AIEIS M QIBSHs 7140\t IS Siashs X 8.24 i n SIS of &

=
ofslfst7 | s RS E&s| BESh=E A

AFEISHAT | the fallen statue of geologist Louis Agassiz, the campus of Stanford University AEHTHE
Cist ZHHAN A= KIZEIXL 20]A OfHA|=S| M2{El SA the burning of San Francisco in 1906(photo by
Harry Sterling Hooper) 1906\d MIZIAAT Six{(EH2] AEZ Sm7} B2 AFEI)

Comprehension Checkup c. S o WE SH7E BFAUC

d. OFR= CR|ZLE ZX| UL,

=
4. 1 TA ARISS X2 ofrof AULER? [d]
1. 222 x2 Dol Mst 207197 [b]
2Gele =N a. OHItE] ST
a =2 =55
el o d. 22 ot 2o
b, MIZZHAAT X[Zl0] &5t
c. 27| 0[S} x[7l2] ol 5. Alo] ABIAES . [c]
d. MIBHAATO| 71ZBISS OfZH SHHE FIRk=T} a. 3 S ({72 RISRYHSALICH
b. &1 Y R 240(&LICH
2. 190641 42 182 4220 0Lt L X[ZI0| MIZIAIA )
_ c. LIBHBH= O] 5 ) SJMKIHALICH
32 ZeRiLR? [b]
. d. LI3f5Hs IfEo Ofx|a SMRIGSLICH
a. of 7Y b. & M
c. Ml 74 d. dl 74 6. MIIZIA|AT X|XI0|| 25t AFAO| P Zi2 291017127

[a]
a. XZI2 LIE S0t AlBEIELC
b. 1 D57t AR 2 7|2 &S L|C

a.7 PAEFOI kL= eluy _ -
c. XIZIoi| chet felx SIS ZERSLICE

0| EE5H ot UACL,
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d. MEZAATE LIS 20f S TS

Vocabulary Focus

1) 24 ool 52 oin| S0t AT,
1.1 2.a 8.¢ 4.b b.e 6.d
(5] CFS izl oe Clojg mEAlR,
£7| 0I5 / BISCH/ LR2 B/ T / MZI&) / 24

1. MEAATI} AR OsHE ARECZ 7|SEAE LT

[photography]
2. 1 A2 AMAEE XIFIO= Qlsf HoiXls iEHo| %
OF BAIS chstaLC) [debris]

3. 1 AIZlo| AL TSRISO| K2t HHAS HORIEE

O[BUELICE [analysis]

4, MIZAAT XTI Al BRIt 27| 2E2 50 S K|
SER}ELICE [foreshock]

5. 1906E0] CHEE MSE2 LIRE & Zofl AT UVSL
ch [wooden]

6. 11 X|TI2 72| 50x S0t W2 HIET 2FX|H| FELICH
[twisted]

(11 2= 22Xl ZABIMIL.

1. 72|15 ST OLATET} 3|0{M AELICE [b]

2. SIXIZHA| A7 Fofl HZ AFE ZAPEREELCE [b]
three hours later : M| AlZ+ F{0f

3. 2|1 LEAO} OHEILY X|ZI0] BitELICh [b]

4. Ui2E S22 JA| XIS Tha|=AELICH [a]
earthquake’t YoiLt= £ 7210l during 49

5. TA|Q| AMAFO| HOX|= MHHO| J i SRS

ct. [b]
[ Y2 Cois 32t 23S s,
1. MIBAAT XTI T Tzt AR ofsl 7128 &E

| ALhSt XIHRHSHRESLICE [whose]

damage2 PHFE whose 252 ZANYAL M2
2. 0| 2t ZAl= SHHE Zistet %MﬁLIEf [to get]
3. MY W g SO ALE Sl =Al MAE SEiREL

ct. [burned]

4. 0| X|ZIo| EH2 XRICZRE UA| & nferd dutof
UELCH [derived]
which is7} M2fz|0f derived?} the wealth of
scientific knowledgeE 1HE

5. X|ZI2 719 500 = &2 E2 HISUSLICE [for]

Organize & Summary

[ E20iM B2 HE2ES 025101 CHS ES 2HSHMIR.

[Body] Because most people lived in wooden
houses those days, a fire burned the entire city.
Unfortunately, most of the water mains had also
broken during the earthquake. Even worse, the
fire chief of the city was the first victim of falling
debris. Without water and without leadership, the
city was able to get the fires under control in just

four days.

[MZ] 19064 42! 18U £ THGH
ZERASLICE

[22] 1 YAl iER AIRIES0| SX= CHE ol 41 AW
20l SH7E M ZAIS EfHRISLICE £ SEHET K|
Zlo| oLtz SOt oha|zIAELICE S MZISH 7 ZAIQ] &
2AEO| BoiX|= mhHol K H SMRISLICE S0t Xz
2ol 21 S0iM Als LIE Thol SIS IS 4+ ist
ct,

[ZE] XITlof oot 2A0] X2t ghiatHol2t= 0|22 BlS
A

X[ZIO] AHIEZEA

0

1
I

—_ =
0[Z0{RI=E, 0] 0|22 XIZIo| YoiLt= #RlS d¥st= o
t

=2S R

[ gt chol2 HIZES i) 228 Qo5IMIS.
earthquakes X|Z! wooden 2xi2] mains =2

victim s|MX}t leadership X|=2 explain AHEs5iCH

1906 4% 18U £, TWSH X|ZI0| MZZIAATE ZE
SEUCE O SAl iR AMEES0| SAz 2= Eofl 42 9
7| =0l ST EAI% EHAHRSLICE R st
= XITI0] LojLts SO mh=RtEUC HS Mot 2 =A|
Of AMAMFO| Holots ThHel A Hi ilg*xﬁ’iﬁ Ict. =
X=Ho| £l LoilM A= LIS Rol| SITHE T 4 UNR

mun

l',J_

= A

=

LIt X0l cigt 2A401x|2t Bidhdol2k= 0|22 EtdS 0]
ZOoJR=|, 0] 0|22 XIZI0] oLtz Hels Bgsk=dl =

== FUABUCL
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Social Studies | UNIT 15

22604 | 25E S22 710 Xet S=2S0| UsUCh BEE SESS2 He ZMMGHR| EXIZL BE /47|
= (o] FaY

off et S2S2 OF| HOIRIGUICE J2{Lt BE 217[0f et S2== &0l HOIMA| g0t 2 BSE & ABLIC
A

Z2|ZLot 2=EE Sa|XE A7 A0t MYLICH Z2|ZLot 2=2= BE 2170 MeiUSLICH AES0l |

= A1 B2 URE 7| ARSI 22 SXIE He O 3=2tt UFRE 7 + UMSH O sfof £ot 2
=207 fIEo] tsLt 22 MFES0| B2 =252 HUSUCE J2{L O 320 52 =lef0] 22
£ 37 sidsLct, 3H f IS BE 217[0f Aot SSYLICHL AL MHS2 EE FuXt S ASSUCEL O
2Lt SHES0] EfOLt= SHR| ACH= &

b O e Hei=ln ASLCE 1911d RR L2HS0| Tl siES Alds
ofofl MESIABLICE Ef% S 7|0l xet S22 SHOIYLICHL AIFHE2 2HO0IE AZ= ot = SFO0(9
—'?'—%’—I 27| o ASRSLICE 2 HHOM= S20| AtgS SHatol7| ok =25t UX|2, A2 AlLE

ASLICHL TSIRE2 BE 21710 X2t SS252 Fob7| 2lol 2T WSl LMD ASLICE HZ HelXS2 S22
§.3f0=| oot YAz BHUL, SE252 25 HE Zd% HSEELICL SES2 520l 25&H CHA| OF
oz SHEUELICL SSS2 E25P| HloiMs T MAXCZ B2 et §#0[ RS,

[IJ

0>

rir
r_>A

EOlsHA] | 1.2E91719] t a 01 25 BSE {700 X3t 2.98 : n. AR + AT KAXIE ARROILE =X
3.20] i n, £ SE0IA U= BT, 20| £, FER 2 4.87F 1 n. = 0142 7T HE A0]Q 4 52| 5.2
9f:a HO=Z SIHEX| Y= 6.ZXIE FICt: 2HIE SHZSICH 7,042 o, KA SEHOIA ARS; MRS 25l Bi51H

L} EXfjgx| ot 8,82 n, 22 2HE 35) 1 Ysts 1iY

Ei =

o

=L

5

ﬁ

My
oot
|:|0II

Comprehension Checkup 5. M SRS Qi SEES ZEFILICE [a]

a. 158 B55im Hols 57|
Jbe gze Be M. b. 159| 7158 ¥o2 Al
1. 22S 72 2% B3t 200127 [c] o 82| 715 82 27|
a. off 3iet0| 2=20{A Yol =7t d. 52 230HH ST
S = ol7|0| E2 =
N :;i:o:E:;}lj EE;'_QE'%f[E e, 332 BRI SEEA ) i (1
O A B2 21! SIS At a. AIBE0| 2228 ALE 1) 3loiS MBI
b. 52 S20/ e siot| 228 B HLIK,
2. 9 ARISS SliZS MHSTIR? [a] c. 212f0] 227+ HS Xloef= USRS S
el &2 AJ| 26l b. SHEHQ| 1IIE 2| HfaH d. MEIRS0| 22017 XSt HAS MIot| Hh
SO tHE 7| ol d. SHECQ| SXIE &7 s S=== 285k O 3iof2 AREEILICH

3. Z2|zL|ot Z=20)A| -] == A2 FNIR? [c]
2. AZX BEOZ2 AL = 74 Vocabulary Focus

= I
b 28 SHe Mg s A 2t El0{0f 232 OI01E SO LML,

c. SXIZ gt LIE7H S&olX| ¢42 A
= TolesrEe 1.1 2.d 3.2 4.c 5.c 6
d. 012 M7IE 215t 34l0] Z23IX| 42 A
ChS HizZto] Y22 ColE D22,
4. BE 97| 20| ofd A2 FANWIR? [d]
a. 3= b. Z42|ZL|0} 22 23S /710l Aot/ A/ SEAR! /
- XOF HX | AXIZ FsiC/ =
. 3200| o, Al AR RIS
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1. 31U2 H2|ZL|ot 2201 #I&0| 2 4 UFLICH
[threat]
2, ofiEfo] BZ {7[oll Xt & 0|22, 2 =7t= siEHS
Cl= AldstX| 47|12 sh= 220l MBFSLICE
[treaty]
3. ol AdHE2 22 27| oM sl TUSLICL
[fur]

4. T 7|0l Mt SES2 01%Is| HORRUX|EL ol Hot

UX|= S&LICE [Endangered]
5. SA0IE Aldst= A2 EH-OIX|2E MRS 0Xis| S
OIZ Afdstn &Lk [illegal]
6. AIZS2 BT 712 SEE Fol7| sl ZRIE FIsHot
SLck. [take action]

. SEE2 E5in HE g MZeELCH [b]
2. HHoM= SH0| AgS EEsteH | Yl 2RELIC
[a]

3. EEE S2S2 U= EXetR] &LIC [b]

4. Z2|ZLot 2= S2|xE 47l ARt ALch
[b]
[b]

o
gul:'
n
tA
rok
s}
Y
d10
N
2
_>|‘_|
ro
i

i
14
i)
i

[killed]
2, siES0| EfojLi= AECH O e AehEw JAASLICE
[being killed]
Z07t AF=0| 11 AAR BHX| ZolE 2 £SEf MY
3. IEIRE2 HE 7|0l MEt SESS Fot7| flei 2H

S0l LMD UELICE [to save]
4. T2t O SE500 92 30| 2258 HEH &I
&LCk [made]
5. 2 LIZIS0| Cl= siES AFatR] e ol Mo
FsLCh [not to]

Organize & Summary

ZE20|M U2 YEE 0I8510] OIS EE 2SI

[Details] Endangered Animals As people

started to cut down trees and use gunpowder,
the California condor became endangered.
People hunted sea otters and tigers for their fur.
They also hunted tigers for sport and for their
parts. So the tigers also became endangered.
[Details] What Scientists Do Scientists try
to save endangered animals. Scientists take
the animals to safe places. The animals are
protected and given food. When the animals are
strong enough, they are sent back into the wild.
(B LHE] BZ 2170l Xfet SS52 ol HOIUX| g0t 2
EEE o UFLCL

[MIF AFE] 25 217le] SE5

AIZE0] LIRS HlojLiT 31k ARBaH | AlRlstHA 22|
Lot 22271 EBE 7|0l MASLICHL ARS2 2E 7| ¢

o

off iET SHOIE MBI I52 AXXE ?fsh 22
LA LRE HI| ffell SHOIE AL = SIASLICE 24
M 20| =3 ESH710f MASLIC

[MIF A] ZHEtRES0| She &

TeIRE2 EBL7I0 Xgt SES= 67| 2ol e
L. dfeiRiE2 ot a2 S=58 il s282
=238 Ho|E %l—lﬁf SES0| S=9| sl==H O52

U2 TR HIZES Hg 222 2ABIHIR.
extinct @&% gunpowder 32 endangered
HZ Q7|of Xfet save FSICH protected ESEH=
wild 049

ng

2710l }Et SESS B0| HOIRIK| 20t B T5E
LIEE, ANRIS0] LSS HIolLT Siofg AlSat7| Alx

o> oM
LA

Ol
—_

£0

HA, Z2|ZL0f 2=27F BF 7|0 MBS AlE2
22 27| 2fat s SHOIE Mgttt J82 AR
£ floll E2 MA| YRE &7| 2fell ZHOIE At |= sI
SLICEL J2iM S-0| et BEA7(0| MASLICHL TSRS
2 B0l et SESS T617| floi 2FLICE Dtsixt
2 S A2 FSESS dlHYLc SES2 s
HOIE HELM S220| 20| 2=5H J52 ofdez
SHEUHZLIC

33



34

Social Studies | UNIT 16

EE64 | 2710 U= ES0| B2 0[0F7 |7} QUCk= AS L1 UR? 0 €S2 TS, &Y, a2|1 2} L2t =S
of Toi| thsh T2 Ol0p7 IS UL W2 =7|of Q= 252 £ EXI2IE UEHLICE ol U= B2 U2t
o Z7|oll= EaIAkEol2t LTl EX2|E Olf= ES0| UsH 37, %?’é!.a_E J2[3 ook 7| Of M| Lt
2to] =710fl 1 EX2|E 0|F= ES0| UFHCE o ES2 2t L2t SEE JFEUC 07 =7l 252 &
£ 2tofl U= 7| RAIE UEtL= 507H2| ol UFH L. Eatd =7(ol|= 2671 et 17§2] HUXIX|ITE LEt=
27712] Eo| LgUCt. 2F2tA Z7(0f U= 5712 E2 0T S ofn2|7t HLZs=S OIFE 571 =715 Lt
EFLICE. =7(0]l = ES2 0ldS LIEIY|= BT S22 =710fl= T 7He] Ho| QLSUICE of 72| 2 82
Y9 SuFo| YRE LIEMN U 7ol 22 E52 QITISS UEHHLICH HIEFS| =7(|0l|= 2t ol Ho| St
USLICE O] E2 =715 AL3ME 2E =2Q| SES JTYLICL E2 £t B2 22t WM St ote 82
ot s 20iF= JT07|= B C OleEurt SRt Swl T2ojAlotet EI7|E Zelet K2 =7te| =7(o]

gt ZSEO0| YHFLCL H2iE U2t 7] &2 0[R Li2te] Z7(of Eo| ALR? 2t JHCHH, =710 &
0l

7{Z1 0[0F7 |52 B EMNIL

EHOjalAl [ 1.3 1 n, 2AQI7E 2 TIMO|AL ERSTHT Lyls 2 2.8X12] : n, EXNSH 2YS PHET 0|50| =
HE0| 22| 3.8 n. X[FQ| B E5| Mo| 2ILt Of2HO] B 4.1172] : a, ofF0]| Y%L =X, 2Lt X|
22 0l 5.5 n. StLIZ FOl= &4 6.31 : n, 5tLt == 1 0[4Q] Mol tist 2S 7.9, QI1Fst: a, O2i2
0| = = 29l 8.5l : pre, HiZo U=

2. 0= SO . DI U500 A 2} Efofof 2132 0l S0t A,
c.ORRUS0HOIE  d. 01 U 507 B

[b]

Jhs gte ee mEMe ofo| ZAIZO| FE
200 =2 Doj| Bet 2917127 [a] 27} Lhe] =0l
a. 27|0j| Qls HE2 2 L=}
MEEse T 6. 27|0f| Ql= HS0| 5t AHO| ORH S 291017197
b. o ZH0| 27(0fl U 4 =7t
c. O]2 270 1247 o 4
=T a. Ol HS2 0|AS LIEFALICE

d. o ofiH Z7|ojl= Ho| =7t

=Y b. OffH HE2 WS LIERHLIC

. % 27|0f| Qs YAl 2 LIEHALIR? [c] c. fH W52 27to| HES MEFHLIC,

a. 570| HE b. ojaatmE d. OffH HE2S S5 HXI2|Z LIEFALICE
c. AR d. Gt x|

. O] 27(0] Qi 507H9] HE 201 LEILIR?  [a] Vocabulary Focus

. O Ltat 27]0fl SAIRF0| QILER?
o= Li2t =270l ZAXHE0] QULE [d] Che HIZH| 22HS Eioj= TEAIQ
a. &= b. E7|
HELt d. SxEe US / EXt2| / Bt/ Sm / QIS / Fof
. m30| yj0f Qe 2 e (=) Lier 1. 0| = B2 U2t =710l Aol USLICH
Lict [c] [Hemispherel]




2. 7| Foll 7% 0[0F7 IS LAGH= A2 MOIQUSHCE

[behind]
3. 0|t 28 Zuwll =71E2| =70z Hut =
20| Y7 4 UGLICE [religion]
4. =70 U= o E2 1 L2t 0S| SuHel U2
LIEFRALICE [beliefs]
5. 0|2 Li2te| =7|0fl Ho| QU= 0] HO|LtR?
[neighboring]

6. 3% Z7|0ll= ARtz LTI EX2|7t USLIC

[constellation]

o= 20l BEAIBIML.

1. 25 A Lztol 2700 EAfiZ 0j2k HSo| s

ch. [a]
flagsE FHZF= three countriesOf et ASQZ 24

CHHAL whose A
2. Ol =71 7143IH RE =019 S8 LIEMHLICE [a]
3. M= 7|0 U= HE2 EX EX2IE
%

oL

L
LIEFHLICY, [b]

4. HEZC| =70z 2Ol Ho| B JELICE  [a]
a strarg 71217l 2 LA that A
5. G2 =79 BE0| B2 0l0P|E S3F1 Q= A2
U7 ULR? [a]
A2 CHolE St 2SS AYSMIR.
1. 254 0|=9| 5078 F& LiEHH= 50712 Ho| UELICE
[that]
2. JA0= 2670 2t e HHIXIXITE LEH= 27719
Ho| &L [which]

represents 712|71= AISA 89| £ BACIEAL
which M2l
3. U2 Lzte Z7lol= EaRHEoltn LTl HRlzlE o
F= HE0| UELCL [known]

r

rlo
ta
rol

Buo| ZRYS UEH= JFYLICL  [that]

= Zu
a symbolg 7f2|7 = F4 HAEA} that A

ot 2SR YzfoJAlote} EFIE =B U2 27t
=7 |of| A YZAELICE [including]

Organize & Summary

=200 2 YEE 03510 LIS EE 252

[Details2] The American, Brazilian, and Honduran
flags have stars to represent their states or
nations.

[Details3] Stars on Chinese flag and Vietnamese
flag represent the people who built the country.
[Details4] A star and crescent moon can be
found on the flags of many nations, including
Malaysia and Turkey, where Islam is an important
religion,

(B2 LHIE1] Z7(2 o E52 EXet HX[2|E LErLIC)
(B4 LI2] o B2 2k =719
(B4 LHE3] =Z7/oil QU

r|r i)
%
fjn
10

[S4 LH24] HSS ofef 23kH0IN 17} Hols 523 o

sig HOIF|E BiLIC

[MI AjgH] 575, SAEE 727 Dhofsr|L] Zo| Leis

of QU= B2 7l 27)0] Hxf2IE 0l Weo| YU Uizt

SolLct,

[H= AlR2] D12, B2kal, J2in 25aiagl 27|oj= X2

7 52 2712 LEN #s0| ULt

(M Afgla] 2 279} HIEY 27]0] BS2 Lzl Mo

2012 LiefdLc,

[ At3t4] 220lA0ILE Ef7I2 35t e 27te] 27(o]
w3l FAT0| WA=, 0] L2tSolME old2mIt 5

U2 T2 HIZES Rl B2E Q95

or

M.

constellations #Xl2|E stars €5 states £

=
ideas 0|4 country =7} religion Zu

=700fl U= o ES2 S EXEL, F &2 /E U
=l

Lo S, FEYME, J2|3 ool | Zo| ol

i

UE W2 F7IS0] =70 EX2IE 01F= ES0| U= L2t
SYLIC 0=, H2te, 2|0 2FetA0 F7|ol=s A=) &
=2 FUS HELE ES0| AFHCEL F70f U= o THE
HE2 0|YS UEH7LL Of 0| Q! Hels 2 &
Lict =1t HIEE =719 €52 L2IE M2 RS Uerd
LICt Z2{0[Alott Ef719] Z7(of= 20| U=d, Ol=tw7t
SR8 Bl L2kSLct
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EF64 | A0S2 2B OFAE HX| RYELILL 252 7|12 A 22 7222 LIF of2f 20t AASLICE
UK | AOS2 AIE0| 2= AS MELICHL 2A0IS2 J0A X |ISS 222 Hjzict 22ty ofSIRSLICE *L
3| oOIS2 ZoIM AIFES TotH7[2 RESHAL Lis 20 27|12 HX| 201" AFgR0| Z3HSLICE OS2 A
SR EOiZ SHE 7IXIX| RAUCY S0 YMBSLICL J2HK AFFE2 2SS 2ol dl2icre ol 323 %LI
L. 2= 2A0SS 19 #o2 JO{M H2(of O|USLICE 22|11 7S &t ST 2710 0|23 AtgE2 o

OS2 Zoll S0{IFUASLICE 24Xt &40 S SHLt7E B M0|Z At &2 S0 KUSLICL "7 LIS HLHE ot

= 02|42 X ZoLf?"aln 2017t LRSLICE AIFER S0l A4S 47IM7|H 22 250 el THtEU
C. AFE2 a5 FH| U= V017 2017t X71S ZoIHo{0oF SX| 2X|0f 2o SHEASLICE 2407t HE
HE YE L= ME M GEIE E77F ZRSLICE "2 0 01FA 31 22 A0ISS SAlol 7 2t

XI? £ OIA| 758 H2km K| elof.” T2hA At QliS ofZA| 150| 2o SH=X| HoiFT|2 S
Ch 2240 YO 2 ufet EZL LS ufet 250| BHE HAR ZHSLICL AR} 2l0fS0| 1 HAY EA5
R £t SELICE "0l FOR S0F 4 0L 2T A0S I CI2 AR0| KILIPIRHS 7Icti0f e
Lict,

EHOJa14] | 1. 37150 LIS : o 2Rb| 27 OAIZ Y= 2.2 E2Irt: v, ST} 3.50f Salct: v, FXOVIE 2altt
4.2} 10, 20 FHO| U= T 5.0f2IM2 ¢ o HITEIK| %2 6,914 1n, T RAOIS SHACH E= 51X 4CkD Bt
=

7.92|5t: o, £E5 8. %S X|LTH: X|L7 i

i3]

=3
F9.-

Comprehension Checkup MNEZOISS ETAI A =204

zuLc [a]
ThE U2 B TEMR a. TS0 Z7tol| Q=X
1. 222 xa o) Bst 2017127 [d] b. AKE0] QOIS A=A
a. E77j= 20iLt JoiSoli| BEHET} c. 150| EAIZ =X
b. AKE0| HDILE B2 QOIS 3t 0| 82 4 U7} d. 0{7} AlHRE SR
c. QOIS 2 BT 2o B}
Srmm T = ] 6. AlF0| oz Sof7t 5 olojSe 2HS sfof #LIR?
d. ALBS Hx5IR| 23t Ql0IS2EE ofg a7} o
d
2. AB0| 2912 oz S7LIR? [d] a. 1SS E7\0 XSS =oi=aln Hefsiof L
a. AS b. 25 Ct
c. Eis d. olols b. 152 B2 %7} 22 FaHo HALICH
c. 1SS 2o S0P} 4HS a0} HLic
. SO RS 2oRILIG?
8 T/HNSES SRR o) 0. ISS I 1 ARO| KILDPIE JICkRiOF SaLICk
a. ga|st A . d2|st E7)
c. Falst w0l . 23t olof
Vocabulary Focus
4. 2J0iS2 2o oFHLIR? [c]
o 2| LI 7} Elojoll Y32 oln|E So} AL,
b. Zloll SO7}X| LIk 1.2 2.¢ 3.d 4b 51 6
LETL, SHE 2I5|X| tAEL|C
c. AFFROA SHE 5IX| SLZELICH LIS HiZioj 212t CHOjE T2
d. ChAI= OfS5IR] QZIALICH =

A7I50] L= / 2UCt/ B7t [ O2IM2 / 9% / KLt

36



. A7HIM AR 2 2A0ES 20 FASUICL

[riverside]
A0S FAl 7t 2T | 20 $1715S =2ELICh

[faint]
‘L= HIEZ0| HE S0 &2 7{oL 2t o7t &
SELIC [foolish]

[wept]

OS2 UES 017|1 AGES |2 D FHELICH
[promise]
OISR L CIZ AKRO0| XL |2te 7|CH & it
== [pass by]

OS2 J|ME A 22 7|20 LIZ Of2f QHOIUAUSL
ch. [a]
EATL20IAN feel2 XISAO|22 SSEQ! SIRfEAL
M

. J52 0 A IS 222 it 2t AP

et [a]
. UR| D52 ASE0| 2 S BUSUL. (0]
. AR ASS Loz ZOFUELICY [a]

o

ANASA let2 SHZHE0Z SA 2Y
o

. W7HHE EUiE 2 of2lME A 2ol [b]

be foolish to ~ : ~3| 02|AIC foolishe| 0|RE

to SHAF 4

otat
22X

Elof

=2t ZHE AHsthe.

rlo

. J= E70A 2RS0] X7 1S HorHo{ok ZX| ZX|ofl Ch

it S{EUSLICE [if]
22X or not0| LI2E 2 if MQl

AUIS S SHLIZHE AlO|Z AFFTC| 22 20 RUBLI,

[smiled]
J2Xt A FRE J52 2ol izt R ol SoREL
ch [to carry]
J2|1 A0IS2 E CHE MER0| X|L7E7 |2k 7|Chof
FELCE [for]
AR IS0 A42 A7 |AZELICE [of]

Organize & Summary

[ E20iM B2 HE2ES 025101 CHS ES 2HSHMIR.
[Problem] They begged the hunter to carry
them to the river. He tied them together with
his rope and hoisted them onto his head. Then,
he headed to the river. At the riverside, the
crocodiles wouldn't let the hunter go.

[Solution] A clever rabbit wondered how the
hunter carried such big heavy crocodiles. So
they showed them how they had come to the
river. When they went back to the tree, the
rabbit told the hunter to go back home.

[H2[2] LIF of2f Bi2E 240IS0] UAUBLIC

[EM] 252 MFEIA 222 H2i7t Zetu SERISLIC
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20| =X SSMIELICE T2 252 ofEA IS
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QUL FH20| AR Z2E Aol (B2) ESC

0717} ARMO|2t 25|, X Of7[SICt
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b. 2IE] Mt HR27| SfEHA
c. ¥ a4 SIS UHET| QP6HA
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a. 20| =AELct b. TS0 YASLICE
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1. 2IE W2 OFEl H20[|2tn FHGITA AL APH2 HiZ
2 E0JELICE [insisting]
2. 2IE| ot W Mo CHEOZ QlahA AZ0| HHEaHA &
UCH =UCH FHELICE [argued]
3. ¥ M2 AIRISA HE0l2tn Yaky| lahM S
HIZE S0RELICH [breeze]
4. =2 2 HoIE2 F E Qelob7| M Hxjol E
QSLICE [firewood]
5. 2=t £ M9l OhE R0l AIRISE Fai20 BU&
LIck [trembled]

6. ‘A0 M2 Mol 0SS 7HHCHE E-oItEL,

[spirit]

S 2 BASIMIL.
1. J= Juet A iXle 2 TiE 4 Q&L [b]
avoide SX02 SFAH-ing)7t 4
2. 2l o2 Ml’goil HES 7PX1EF%‘+: ’S 0|RELICE [b]

4. 2IE{ Mol & HIZS 2010F k= X7 | YFE Chst7| 2k
LIZbSLICE [b]
5. IE{ Mol Mol 20| LORELE A2 05 EARE
Lc. [b]
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[stay]

Al makes= S84 HOHZ SAt i A
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[answering]

while 0l he was MEfC2 ST HME AL 42
| A

5. Al=0[ H=allM LUCH =QATH FSLIC,

A[20| ZiRl= H0IDR $E B B

Organize & Summary

E30j|M iR HEE 012510] LIS B2 AMSIMIR.
[Effect2] She started a fire in Winter Man’s
castle.

[Effect3] Summer Man came.

[Effect4] Everyone trembled with fear.

[#en] EF 2 H0I=2 2IE| Mol ofl 2K}, a7t X7 |2t
7 =27 JSLch

[B2R2] 22 Z HolE2 2E AlES0| €31 = &0l U=
A B
[2213] 2UEf 2Ol Hoil =0| T|ORECH= X2 0152 AR

SLCt,

[Bl214] = Al CiEC 2 AES0| Hi=slA SUCH =24
Ak

ZiH] J4= SO0PIM 25 2ST HOM SHELCE
[ZaR] 2= 2IE Mol HollM =22 X|ul7| ARSI,
(23] A 2o ELICE
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2401 MEE i

Comprehension Checkup

p.nc-p

1. EE2 F2 FA0f 2 SWIR? [d]

6. 24E 0f= 20| o BREVIR? [a]
a. P2l E4E U AIZELIC,
b. ARISE 81201 04t RIS FLITE

c. 'E4BH= Toj= 21101 fractio A StSLICH
o
=

2, 4T FATIR? [a] d. OFRIS0| & XIS 22lst7| flah MS EUSLICE
a. 4310 5R3 U b, G ERF Y
c. X[2|9] EREH LR d. Foje| Ze5t UL v°cabulary Focus
3. siTeli/as RARIIR? (o] 2} EHOfol Y22 2l0iS 3o} SEME.
a. 4 Azt b. 6 AlZH
1 2 3 4. 5 6
c. 8 AlZt d. 12 A2t
IS wiziol LS ElolE T2AIR
4, SHO0l| 2l 5X| b= A2 FARWTIR? [d]
a.0l22E b. AlSSE S/ ~ol 274101 / X0 / 223t / IOINE / WS
c.TEEE d. U 1. BEGHD 28 HS o0 & 1 SIS £4E Tee
5. \REL 242 ML) [C] %uH—“:l’. [COI"ICiSG]
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2. 2OARE 20| ERE YT AME S| 2ol 24

£ ASELC [Surgeons]
3. 2= 1t 25} MUt A A EIUSLIC
[throughout]

4. U 22A E4s Y ARBE|D ULIC [fractions]
5. O|ZEQIS2109| 7iEol| 7|x510] 25 MSLICH

[based on]
6. Q2Al= £|10| A Li7| s MEE AZfel= o 2
7H ZHsh|ct, [ingredients]

= 280 BEAISHL.
1. QMOIA 248 Of= 20| B FR3t YWR?  [al
importants LHZF= £At that A Q]

2. OoJxfofl HOLM 22t MESHE QULIR? [a]
3. 245 27| 7ol O MEEE SUI2 Of Falet Alts
ol 4 AL [b]

the more ~, the more - : @ Z0| ~&4=E ¢ 0|

4. Y 2USID YU MBS MBaD| HlM Bae
TARULICY, [b]
5. A R2l= YA 22| Y 225 AEELCE  [b]

be aware of : ~2 YL}

1. OIZRIS2 3/41t 2/5X R 27t F KAIE LF7|
Lol Al8dh= Mg FIIRMELICE [which]
2. AIZFS2 MA0IM LRE mI6H| Sl 25 AEH
ch [to describe]

3. P2 st AlbkS oh= ol 247t ZRECL
[to make]
4. O|ZEQIS2 109] 7HHol| 7|82 & &8 MI| AIZRY
ch [based]
5. 1 U2 7HCrel Qn|E 71l 2fElo] fractio Ol &L
ct. [which]

the Latin fractioE F0HFE= ALA 88 =24 27|y

HAF which A

Organize & Summary

=200 2 YEE 03510 LIS EE 252

[Body] How We Use Fractions Every Day If you
slept six hours, you spent a quarter—day
sleeping. If you cut a birthday cake into twelve
pieces, each piece is a fraction of the whole
cake. If you play a musical instrument, you know
that music has fractions in the forms of half
notes, quarter notes, and eighth notes.

[Body] The History of Fractions The word
‘fraction’ comes from Latin. From 1800 B.C., the
Egyptians started to write fractions based on the
idea of 10. The Arabs added the line which we
now use to separate the two numbers.

[ME] B4 4810| 012 FR5 B2

[22] P2l Y OIFA 248 ABaH=7}
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252102 JHEol| 7|Hts = 25 M7| ARRASUCE B
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EIOfsHA | 1,20 2 : o, B2 Bl 2.380] :n. 32 OfASER ZaiXis X1 Wi T 217 3MHN
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AoiS) 25

n. (& gt MOl= MM 4 EHGICH : v, F717 RUE DolHL RS sl ok WS HFE/ SiCt
5.3k61C} : v. E5t &A Zo= JiCt 6.5t n. S, NN 7.9461Ct : v. S0|7t GICHEZE FAQU7t0] Chel ZECt
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Comprehension Checkup 4. 9 0122 B2 SHUULIR? [b]

a. 7t 27| W2of

THE Yok e TENQ. b. QE7} 19| MUS uixiztoZ DSy | o]
1. 222 2 20| st 2017 [c] c. 27t oA 77| W20l
a. 0|22 o{E/| 19| Heig S5t=7t d. J= Z0| Si7| W20
b. 9 QEL= HES0| M| 7401 MOIRIS Alot=7}
I 5.  "2tm 0|22 0|RE2 J0i cHa U3t
c. 2E= o2 0[20] th3loN REdt= X2 =2t=7t oLt [c]
SLC} c
d. off A[gtel A2 o|20A| & &9l ElZE U=t )
T coomE T 0lAf3H A4zto[ok, b. U7} 5t S &}
2. ojge (SENNEVCRE [c] c. 01| 0JA5H T2 Qlo]. d. Q2= LEXIE HH0!.
a. B401 2E ¥
= * 6. CH3| MALRIR2 0122 Heoil Cchal o{LAH M2iLe?
b. BTt El= 2 79| S74E0t
b
c. M7t El= BE A (bl
a. = H20| Wr{! HOIN FokgLct
d. 247t ElE 2 He 78 ) 3
b. J= HIE H30| o|atTt MZIBHK[2H Z0IRYSLICE
3. QC= 9 o= Flojl ZHLIR? [d] c. J= H20| o[A3H7| mh20f ZO0t6kK] LUBLIC
a. Z=2 M7 siM d. = HYI0| ®7}OILIAY| W20 31 WELICH
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O[2= atLtH 3171 laiA Vocabulary Focus
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2550[0 / 3301 / BHE /
~E &elf 2UCH/ OTHE 22534Ct / &S Fa|Ct
1. “F72t &7 0] &S 710F BXI?” OJ20] OITHE 2243
&Lk [shrugged]
2. 0|22 ofoiM S0 04X DR2IE 7IRIELIC
[goldfish]
3. 0|22 F il 7HHE RRS/MKR? OfLH M HE 7
27127 [pack]
4, 19| B2 AME 2EE Qlsl SHERASLICE

[interrupted]

5. O|2klslHM 2= 1 &S L OC|27t SRHELICL
[headed]
6. 0|22 19| 0|ZT0IM 5 Ofz2| EE50| DY0IE 717
S [furry]

1. 0122 2 ¢ T XS SRS [b]
2. 0= 2880| 1Yo F 02|, £2 7158 Jh H or2l, 2
2|1 ot Mot 280 6M 0f2[7F ALkEH. [b]
E2 Yo|32 7k= & F gS duFn 0129 EH

= MiELC [b]
0] A2|TELICH, [a]
= 7IX[7" O[20] O{THE 243
L= [b]

1. J& AP H0| JUTIECZ #MEl= 22 BREELIC
[had]
2. 0|20| Yok M= glo] 2== J9| MUXPHAHE Et

7| NZZHELICE [realizing]

3. 0|22 o5 &2 20| U= FEE 1 FALECHT AR

&Lck [Most of all]

4. J2{Lt 19 B2 ME QEZ Qe SHEUSLICL [by]
5. 12|10 J= 0122 &S mLt oC27t SRiELIC

[headed]

Organize & Summary

ZZ0M B2 HEE 0|2510] CIS 25 2SR
[Problem] One day, Even received an application
to the Perfect Garden Contest. Even dreamed
about winning the big prize. Soon his cousin
Odd came. He started to ride on his tricycle
with three wheels. He rolled straight into Even’s
garden and his garden turned into a mess.
[Solution] The next morning, Even’s garden
looked weird because his cousin Odd planted
cacti with three long, sharp needles. Even cried
out with anger. Just then, the contest judge
came over to the garden. He thought that odd
cacti were an odd idea. And he liked it.

[M22] ol ofg! Zo| 20| U= 10| B ARIFLIC,
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even &9 dreamed ZBRRUCE cousin AEE

mess YUZFIE anger & B handed AUIFEUCH
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" ReWieW TESUUNIT 01-04 - -

| &g
1.b 2.a 3.f 4.e 5.c 6.d
1.individually 2.Fertilizer 3.frozen 4.seawater 5.straight 6.trunk
1.b 2.c 3.a 4.b 5.d

1.easily 2.are usually 3.decay 4.throughout 5.to live

| 25 a4 | c. 42 d. Ol
7} Clojofl Y oj0|E Sl HHBIMIR, 2. J7iS0| WA= 1S0| SO & Q= iS5t o
1. ZF2) - b. #= 2 22 s4soF LI,
2. 7[2t----a. AlZto] Z0| a. =I5t b. 3|M5k=
3. ZWet - . WRSPILL HEEME JiLt, Q7T c. B4} d. KAIRE! & 9l
A= B2 3. SAMOI= ZEE7} OF ML
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